6c'0 | 68'C |FS6C| 8BS0 | Ovc |BMV'E| BE'0 | 8¥'c | 6600 | £80 | MW |[¥9L° L] 950 | Wwe [6B60) 950 | Svc 6880 Sc0 | 6V [ELLO) #20 1850) 860 | 05'c |9E¥'0 | 90S'Sy | #GEOL | #BESH

552

[ 260 [Ore |Zve| te0 |Bec |ese b | 060 | ebe |evk b | 820 | ¥Pe | 290+ | B0 | 12 |0060| 820 | 652 |2640| 220 | eS¢ |6690) 920 | GG¢ |0090] Ge O | v c |e6r 0| 506 6F | 658 0F | ZBEE
- - . :
p

499 —

Ge0 | Ore |496E| BeO | Ove |Jel'é| BE EvE | 1581 ) 420 | ¥ AL LY 920 | bve |BEE0) 920 | Své |0SBO| SE0 | BvE |2220) veD 88500 60 | 0S¢ |evr 0| 955 GF | LSE 0L | 2902 F |
2¢0 | 662 |Bese| 620 | Bee |92-2| 620 | 66¢ | 200k | 820 | ev'e |20z )| J20 | vbe [svOL| 220 | bve |6460] 220 | ove |920] 020 | 6ve |5990| G20 | 6ve | 650|556 6r | 15804 | Gaket
lmmd Op'2 | 896’2 | BZ'0 | 9p" 9212 mlN EP'E olmm.r £2'0 | W m. 920 | W2 |866'0) 92°0 | S¥'E | 058'0 m..lw,o e | L2L0]) PED mlm. 2 | 8BS0 €20 | 05'2 |2br'0 | 909'Sk | 608°0L | OPBLE
260 | ove |81cE| 820 | vve |vOvc| B2 0 | avc | 898 L | 220 | v | 996 F| £20 | £6C |26h k] 220 | Ive |6h0L| 920 | Sve |0/60] 520 | eve [IWZ0| 520 | Lve |0/50] S00¥F | 678 0k | &v6ak
620 | 682 |JG6'2| 820 | J¥'2 |2hLVE| B0 | E¥'2 | BEQL | 420 | W €911 | 820 | ep2 [8860) 920 | O¥'e |688°0) G20 | 062 [2LL0) vE'0 | ¥G2 |2850) €20 | 6¥'2 | JEFO| 8GOGH | JpEOL | 8LELL
¢80 | OFE |LIFE| BED | ErE |[ESSE| BE0D | eve | wBE'L | £2°0 | Ov'e | vkl | 20 | BEE [492'L ]| 920 | SE'€ |6OL'L ) 920 | vve [EE50) 820 | Sve |08L0) S20 | 8 [6650 | SSOPF | LPEOL | L2481
280 | 66 [seve| 620 | Ovc |649¢| Ba0 | Ore | 600 | 820 | 66 |0Zv k| 220 | Z6c |68¢ 4| 20 | Ove |90k +| 950 | bve | 1960] 920 | Sve |9640| G560 | ove |G+a0] S0k v |SvE 0 | 6661
20 | 8E'2 | 928 820 | i 80°Z | BZ" EFE |OLO'L | £2°0 | P2 [BELL) 920 | 2P |996'0) 920 | 92 | 0280 | G20 SZ |PEO0|PED | 2GC |6950) €20 | 6p'E |SEP'0 | 90L°Ch | GPE'0L | 96EL}

0 | eve [oie] 60 | B6e |e15e| 620 | Je2 |06k | 820 | ove |9ev )| Zeo | wve [vees| se0 | eve |840°%| 920 | eve |£660] 920 | ove |e8i0] G20 | ove |2+a0|ssher | eveot | zzzst
| G20 | BEC |2SBC| 820 | By |020°C ) BE p'e | 855 £2°0 | ev GOt 920 | #¥ 926'0) 920 [ Bv 8.0 520 =l 3000 ¥E0 | 6FE |6PSO)ESO0 | 052 |80 0| 9S24 Gk | SPE 0L | FLREE
2e0 | Gve |veoe| 060 | 9ve |952¢| 660 | BFe | 1824 | 820 | b |6ee k| 820 | wve |GGk ] /20 | Sve |S0L| Z20 | Gve |9880) 920 | Sve 8540 G20 | 8ve |£650] S0z v | vBOL | G908L
620 | 66 [8692] 820 | Jve |616 1| 820 | eve | 1ubh | /20 | Gve |2e0t| 920 | sve [€980] 920 | 6ve |O0vi0) G20 | bve [€90] G20 | eve |6h50) ee0 | G5 |2/60]008Gr | vE O | 2560k
260 | 092 [8022] 060 | 562 |6202| 620 | €52 | 659k | 820 | 8z | b2 | 820 | Zv2 [560°k] 220 | ive | 4960) 220 | 8¥2 |Gv80] 820 | sbz 0840 520 | 6v'2 |2850] oaz br | 889 0k | 88k
620 | wva |e8ve| 820 | Jve |29/ +| Be0 | vre |Ove s | /c0 | 8ve | /260 920 | 16 [82/0] 920 | 6ve |5/90| 920 | fve [v/50] G20 | Sve |vzv 0| ec0 | 652 |6ve 0] 356 57 | 866 04 | 06201
gE'D | 96 5L9°0) OE'0 | S8 |915°0 | Be” L8'E | BEPO | 980 | LL2 |6SE°0) EE0 L2 |68E0| 880 | 6L |208°0) 020 | #i'g [vwLE0) 600 | S92 |SPE0) A0 | S92 2080 | v0OL EF | SEE 0L | vlive
260 | 652 [geoe| oc0 | voe o102 620 | €ce | 6091 | 620 | 05 |vel )| 620 | 6be [ 1501 | 620 | 6ve | 16610 J20 | 05 [vi60] 020 | 6be |2070| G20 | 0S¢ |8950 ] G0E b | 966 0L | 1102}
620 | av P2’ | 820 | BY'E |FaS°I | BE” 8PS | BLM 420 | 85 8640 420 | €92 [2690) 920 | @5'C | 4650 SC0 | BG'E [S050)GE0 | 09T |SOVO) ICO0 | PS'T |60 ) 9065k | 9880k | BOSO |
260 | 962 [0980| 060 | vB2 |8550] B2 0 | 162 |89v0 | 920 | /72 |660] b0 | 622 |ave0| ee0 | 5. |0260] 120 | viz |1620] 640 |2/ |0820] Z10 | 592 |8tz 0| valer |vea ol | 26re
LE'D | /52 |/BSE| QB0 | 852 [466°1 | Ba ISZ |ORS' L) Be0 | 157 (8991 L ) BE0 | OS2 [#aA0'k )| RS0 | Gr'd |BORD| /20 | 1S'2 |pE/ D) 820 | OS2 |IBIDYGE0 | 05°Z | /SS0 | S68'bb | ¥EB'OL | GBELL |
620 | LVE |29V | 6E'0 | ESE [ELEL | BE'D | ESE |COD'L | £8°0 | 65'@ |[LB9°0) L€0 | B5E | W09°0) 980 | LS | 1850 920 | 958 [SWkO| VE'D | B5E |OBE0) 020 | E5'€ [6OE'0D | 8565k | EEE'OL | GBS0}
PE'D | G62 |OKLO] 00 | ¥8E 8BS0 BE'O | 082 | S050 | 920 | 94€ |SOv0)| ve0 | w48 |B4E0) 2270 | LT | IwE0) 180 | L€ |QIEO) 6L'0 | 0L |4L20) 810 | v9C [0ET 0| voB ey | SEB 0 | OLEe
L0 [ 862 | 1852 080 | 062 |066'L | 620 | 6v2 | GBS L § 820 | 052 |09L 1| 820 | 052 |EMO'R| 820 | 062 | 9680 20 | 152 |d640) 920 | 052 |6£90])S20 [ 052 [6PG 0| SOV ¥y | SEE°0L | L9bLL
D | bS'E |9ESL| 080 | S5E |20V G20 | LLE | BIBO | BE0 | 88¢ |0080) 820 | 952 | eSO LE0 | 05 |8SkO| S20 | 95€ |SOPO| 220 | S5E |JSE0) GL0 | KSE |0G20 ) 9009k | LEROL | #9001
LE'D | S6'2 |98.0)| 080 | S8'¢ [SEQ'0| B 082 |EPSO | 920 | vdd |GEVOQ) S20 | €42 9680 B0 | 1L |S8E€0 ] 220 L2 |[GEEDJ 00 | 692 |4620]) 810 [ €9F |LPE0 | #SEER | EBOL | BF0FE
160 | 852 |G65¢2| 080 | Lve [g00¢] 620 | ve |G65L | 820 | /ve |99v 4| B2 0 | 6ve |600L| 820 | By |0680] 720 | 05¢€ |pzi0| 920 | 052 [0/90] 520 | 052 |0vG 0| suv vv | 6e8 0k | Sve9L
E'0 | G2 A2 | 280 | BSE [FIE Le' 282 |0eL0 ) 08’0 | 652 |2¥5'0) 820 | #S 8.0'0) 920 | ¥S'e [SSP'0) ¥2'0 | 652 |6JE'D ‘0| 26 SEE0) 610 | 6F2 |p/20) 5509k | 62801 | 2¥BE
050 | 96 [6660] 620 | S8¢ |6890| Be0 | 082 | w850 | 960 | i@ |viv0| 960 | tie |8er0] 620 | 12 | 6860 @20 | 692 |Pae 0] +e0 | 92 [Z+E 0| 6+0 | @92 |v9e0| vosev | Bae 0+ | geaee
bE0 | 6vc [1696] 060 | 6vc |6e0¢| 650 | 6rc [Shok | 820 | ¥ |84k k| 820 | Zve [ k0L | 820 | ive |vBBO| 750 | 6¥g [29¢0] 250 | 6 ¢ 6590 Ge0 | 6ve | te50] 505k | Zgg 0k | Eezok
980 | 592 [0/0°L] ve0 | 122 6820|260 | 022 [ 6290 | 620 | 952 | k6v 0| /20 | #52 [86b 0| 620 | 952 | 6660 €20 | ¥G2 [9560] 120 | 252 |9ke0| 810 | 6v2 [8520] 0L or | z2e 0L | 02es
0£D | 062 [ve60] 620 | e8¢ 65,0 820 | 622 | 6690 | 920 | 22 |vi50] 520 | 022 [vavo] Ge0 | 89e |6k 0] 220 | 292 [8/60] 120 |9 [Bec 0| 610 | 192 |e820| vaser | 920k | vogse
el’D | Sva |DE9E| 60 | B8 |S90°E | Ga° L2 |99 1880 | Wwa [vBEHL|BE0 | vhd (GO B0 | OFa |S480) L80 | ive [9540) L20 | 6@ |9r9 Q) S30 | BF S |GLS0 | 9SS #F | SGE 0L | HOSOL
760 | 98¢ [2880] vE0 | 6.2 |/690| €60 | 89 | 0850 ] 620 | 85¢ |95v 0| 220 | 65 [90v 0| ve0 | iGe | 0760 220 | 95 |vee 0] 020 | voe |98e0| 610 | ve |eveo| ook or | pee oL | sees
080D | 08 L0 L) 62'0 | 542 | LLB0 | B2 L2 | €240 | £2'0 | 852 | L5650 820 92 |0s'0) 520 | ¥5'2 | 65F'0) £2'0 92 |A0r0) 220 | 882 ‘0 020 | 65'2 |E0E'0 | vOO'ER | 2801 | BEEEE
260 | 6vz |0892] 260 | 66¢ |2v0c| 620 | Jee |60t | 620 | 98¢ |6l }| 620 | 6v e [5660] 820 | ive | 2580 J20 | ive [2640] 220 | 052 |2e90| G20 | ve |7050]G0gwr |eee 0t | 622at
LED | é6E |GIBO| SED | #AE |S99°0] EE 0/E |2FS0 | B2'0 | 092 [BEr Q) 920 92 |SBE0| FE0 | 69°C |ESED]) 120 | ASE |AIEQ) 02D | SSE |IBZ0) 8L 0 | 25'€ |62 0| 002 9t | 22801 | 916

@
o
o

| &
o™
P~
e
oy
i

59z |0E0 | B2 O | 92 | 9EBD | 220 | €92 |6E90| 920 | 292 |B9SD| G | 092 | +450| ve0 | 852 |25v 0| 220 | 092 |2660) 020 | 252 | Z2E 0| VSO EF | bE OF | 09kEe

=
@
o
a
ol
a8
@
ol
=[]
@ |
=] (=]
8
ol
a
ol

620 | Ov'Z | 6290 | 820 | Ob'Z [8E1'L | 820 | #P'2 [6S60| 820 | JrZ |62B0) L20 | 4F'Z |2140) 20 | 062 |209°0) G20 | b2 |98r 0| GGy | 128701 | ZS091
SE'Q | S8E |SKY0) G600 | 24T |6MSO) 820 | ¥9E |80P0) 980 | €98 [MLE0) SE0 | b9E |BECO) bE0 | 652 |SOE0) 00 | 85C 62920 8L0 | 55T (680 | 95290 | 280k | ¥S6S

@
o
=]

(&
o
5
~
=]

I
o
=]
8
o
8
©
g
@
™~
=]
8
od
o
™~

J2'0 | G52 | €00 | 92°0 | G52 |pL0) 920 | G52 |6POO| G20 | 992 | LSS0 SE0 | G2 |E050) €230 | S52 |[0ek O] 120 | 852 |0SE0 | ROL'ER | 61E°0L | 88622

6l v'a |FRAE | BE Br'e |6al'@ | BeE” e | SlaL ) RE0 | W EGL LI BE0 | v @ | WEO) RED | Bre |06/0) /20 ve [PEI0) /20 | 052 | IBS0)SEN | 8Fa |SO% 0| SO/ vF | BER'OL | SERS L
860 | 66¢ |Jv20| 60 | 98 (@650 ce0 | €4 | 9050 | 8¢ | 99 |J6E 0| G20 | r9c | 19e0] €c0 | 9 |o0ee 0| 120 | 09 |2620] 6+0 | 65¢ |toco]| k0 | 85e |Freo|o0e ok [erE0l ]| @asa
820 | EG'Z |vO0'E A 8p'Z | 088"} | L2 AvE |ALE'L | 92°0 | 8P'E | GUB0) 820 | &0 1GL0) G20 | 0G'E | 1G9°0) S2'0 | 26°2 | 1950 vE0 | 6P € |6LP 0] 120 [ G2 [CLEQ| pSLER | LIE'0L | 9L
620 | vve |Evbe| B20 | 85¢ |220¢| J20 | 952 | 955 ) | 220 | 8k | /B0 )| 620 | ¥b2 [B060] Z20 | Bre |v520] 220 | 6V |€590] 220 2 | /550 Ge0 | 6v'E |arr'0| G52 vk | 91801 | £195)
BE'D | ¥GE |GELO] VE 982 | H6S° -8 S4'2 | 0050 ) 820 | 8 E6E'0 | SE0 | 59 LSE0) 820 | e8¢ |SEE0] E0 92 (2620 610 | 092 |9SS0) 910 | 19€ |S02'0 | 859 | SEED 0158
820 | GSe |B8022| 820 | 8vE (669} | /20 | 9ve |weE) | 920 | S¥'G 9960 920 | fva |Se80] G0 | Jve [ShZ0| Se0 | 152 |2090] ¥20 | eve |0g50] 220 | w52 | /660 | rOzEr | S8 0L | vErEe
620 | vvz | 0682 820 | 85 [9L02| s20 | /52 [ 205k | /20 [ vSe (6201 ] /20 [ vve [€/80] 620 | vve |ves0| 820 | v52 |5090] 620 | 152 [/250) G20 | €52 [Siwo|cogvr [ wie 0L | L6ESE
60 | b6 |Ev2 0] 660 | S6¢ |PoS 0| bED | b2E | 2050 | 220 | /92 |e6E 0] 620 | 692 |56 0| 220 | 69 |vae 0] 120 | 1o |0620] 610 | 092 |p52 0| 610 | 192 2020 oovor | che ol | sz
620 | 85¢ |Bved A 05 ebl'L ) e a2 | S8 | 920 | GF'@ | 800 L) 820 | 9F L9580 G20 | B |0SL0) SE0 | 6FE [ar90) P20 | 62 |SPGO) 220 | 052 |22k 0] PGEER | ELB0L | 2/2d2
620 | SkE |ELLE) BED | BSE |EE6'L| LED | L5 | EEb') ulm.c S5'E | 0960 ) BEO hlv.m S080) B2'0 | Birg | LL90 hw.c S5E |S950) 920 | ESE | M6V 0} VE0 | 95°E | LEE'D | SS8'vP | ELE°0L | G3LSL
I.ob_. 5 L .o._.lh T .uw on T .ow o T .u._.lh = .ow 5 Tt 51| o4 o .u._.l o e .um 5 L™ 1v1 | No1 |n=|
SipE=tL §26=1 gip=tL Hz=t1 op =iy 101=H) ZL=iy 05="1 og=ty




BED | 163 |28 0] G660 | Gl |B990] B60 | 69 | 4v50 | 620 | 852 | 1ev 0] £ 0 | 092 |86 0] ¥20 | BGe [6Se0] b2 0 | 962 |6k 0] 020 | b5 |22 0] 810 | 05 062 0] 202 oF | ¥bE 0L | 2216
080 | 08¢ |[PEO'L| 620 | SL€ [v8°0)| B0 | 842 | S0 ] 420 | 89 |8950) 920 | 992 | bISO| G20 | ¥9e | 19¢ 0| €270 | #8'2 |G0PO) 220 | £9¢ |S9E80] 020 | 652 |vOE'0 | 9562k | P60 | G098
Ze0 | ¥ve |06le| te0 | ive [s80¢| 060 | 9t | 9194 | 620 | Jee |99t 1| Be0 | eve [9860] Be0 | Jve [EwBO| 2e0 | Jve [0e20] Z20 |0Se |0e90fSe0 | Bre |00S0| 209 v | €66 01 | 0829k
660 | 582 |B620| 560 | EBE (0290 260 | 022 |2250 | 620 | +0< |60v 0] 920 | L9a | HIEO| be0 | 65¢ |60 20 | /Se [S080] 020 | 252 |6920] 6H0 | vee |8ka 0 /52 9F | 2680k | 5968
620 | 892 |22E’h )| 620 | S92 [EE0') | BZ'O | v9C | 8EBO ) 420 | €8¢ |0¥90)| 920 | 192 |6950) 520 | 092 |2b50) v20 | 852 [ESPO) 220 | 092 [266°0) 120 | JSC | /280 ) 500°ew | 268701 | BBEEZ
060 | 662 |686G| 660 | gve |volc| 620 | 6ve |SE9k | 80 | 66¢C | V5L k| B2 0 | ¥¥ 2 [1960] 60 | 6vc |6180| Z20 | Zve |S0L0] Z20 | 152 |[650| G260 | v |267 0| 659 vF | 468 0 | 85094
660 | 162 06520 660 | vee 8650 260 | 2/2 | G050 | €20 | vo'Z |96e 0] 020 | 292 [090] 620 | 08¢ |62e0| 120 | 852 G620 610 | 852 0820 640 | /52 6020 | Locop | 680k | £cl8
620 | 852 | 1291|820 | SGe |9zt | Jz0 | G52 | 90Dk | 920 | GGe |ob/ 0] 020 | G52 [ 1590 e | 9Ge |E450)| 620 | ¥ae |G050] €20 | GG |eev 0| ke 0 | 95 | 1660 | 050¢Er | €80 | Lokt
620 | €v |086%| 620 | g9¢ |eete| se0 |89 |S09°k [ £e0 [ 9ve [ver k| eco | eve [6v60] Ze0 | 05 |60 220 |eve |es90] Ze0 [05¢ [9250) Gz 0 | ev'e [+ov 0| 02w | 68801 | 9eBSH
660 | 262 |peL0] 6e0 | vBe 2850 ge0 | 6L | Gov0 | 820 | 69¢ |88e 0] 520 | €92 [€560] 220 | 19e [lee0| 120 | bae [8820] 610 | 052 |20 610 | 09 |20z 0| ZGe oF | e8e 0L | 1158
820 | £52 |S902| 820 | Bve | 195 1| J20 | Jve [Blek | 920 | Jve |G/80| 920 | 62 | 16/0] 920 | 05¢ | 1S90 S20 | @52 |1950] v20 | 6ve |62v0) ka0 | 552 |SZ60| 90k er | 88204 | 68622
G20 | pbe |956E| 820 | @S [BL0C) L0 | B85S | 4S5 ) L0 [ 65 |vBOL) 20 | 058 |GHEO| JE0 | Ske |944°0) L0 | Gy |@S90) LS80 | 0SE | PSSO SE0 | 05 |OFF O] 0S4 PR | ABEOL | PIOSE
820 | G52 |B0Z2| 820 | Bre (6691 Je0 | 9ve |week | 920 | Gva | /960 920 | /v a |9280)] G20 | Jve |k 0| G20 | 15 |6090] ve0 | 6V 2 |2as0] a0 | 552 |66E 0| 0k Er | SREOL] /Liee
860 | €62 |92, 0] ve0 | ¥8Z 2850 260 | vsZ [06v'0 | 820 | 69 [Gee 0] G20 | ¥92 [6ve0] 2e0 | 197 |/Le 0] 120 | 09 |€820] 610 [ 092 [8v20) 910 | 192 |86k 0 s0vor | See0L | 6828
620 | vve |Gebe| 820 | e6e |eroe| J20 | 85e | 2ok | 420 | 09 |ve0+| 920 | 162 [88s0| 820 | ive |88.0| J20 | 6ve 2290 620 | @62 |6e50| G20 | 852 |Sir 0] soe vy | vBE 0L | 2685k
620 | 95¢ |Gvee| 820 |05 |Gelt| Je0 | Zve |6t | 9¢0 | ova [0I0F]| 920 | 9k @ | 1/80] G20 | Bre [vSZ 0| G20 | 6ve |9vo0] ve0 | 6re |8v50] ea0 | 052 |Ser 0| 902 EF | £BE 0 | Goree
/60 | 862 |Z8/0]| ve0 | vBe |e850| 1E0 | 822 | 06v0 | 820 | 99 |¥BE O] 520 | ¥92 [6ve 0| 220 | e9e |Gke 0] +20 | 092 |1B20] 64,0 | 95¢ |Sra0| 910 | 092 |6k 0| /Gv 9F | €88 0L | J508
620 | vb2 |EpBe| 620 | €S 6461 J20 | 852 | 1ob L | 720 | 192 |S/60| J20 | ¥G2 |#e80] 820 | Bre | 1690] 820 | 6v g |cB50] 920 | €52 |16k 0| G20 | Jo2 |6BE 0| 566 b | 286 0L | GZIGH
620 | £5'2 |S52'2| 820 | 15E [BRL 120 | 72 |S66 k| 920 | 572 |620+]| 920 | P2 |S680] 520 | e¥e | 94L0] 520 | eve |6990] v20 | 052 |9950] 220 | 8¥e |prr O 95¢ EF | I8E0L | ELcde
960 | v62 |vel0]| 6c0 | vBe 8850 Ve 0 | 2/2 | ¥6v 0| 220 | 99¢ | 986 0| ¥20 | ¥92 |6ve 0| 220 | 29¢ |Ghe 0] 420 | 092 |0820| 640 | 952 |er2 0] 910 | 092 |26+ 0| 05O | 1BEOL | GvBZ
620 | Gve |Bagz| /0 | EGe [GLB || /20 [Bae [2eR L | /20 | /92 |GARO| 20 | Bv 2 [#G/0| B20 | 6v2 |GRO0| B20 | 65 [0SO /20 | oG2 [Gqv 0| ba 0 | A2 |ROED| 906 vb | S8 0L | 8vavL
Gc0 | /S |65cc| Be0 | 85c [EGLH] a0 | ByE |EOP L) 960 [ Jvg |6EQLY 9270 | 9P & |S060) S0 | Bre |BBLD| G20 | Lvg |EBDO| vE0 | OSE |BL50) EC0 [ LWE |95k 0| S0EER | 6LE°01 | 15028
SE0 | ¥6<C |Br.i0| 860 | v [9650| D60 | ele |0050 | 220 | 992 |686 0| beO | ¥9E | 156 0| 220 | E9c |9IE0| 020 | 09 (0820 640 | Z52 [Iwe 0| 610 | 65C | 681 0| /55 9% | 628°0F | €697 |
620 | 052 |Oske|Bc0 |BGe |S6v 4| Be0 | 85 |Oghh | 820 | 25¢ |¥84 0] e O | 05¢ | 1990 820 | 6Ge |8950) 820 | 852 |98p 0] L20 | 652 |6kv 0| 220 | 65¢€ | 1560 | 956 bF | 848 01 | Gezvt
620 | 69¢ |95ce| B20 | 25e |eal v | 220 | 6v'e | eovh | 920 | 8be | ww0'L| 920 | Ly e [6060] 920 | 6v'e [ v620] 520 | Zve |2690] G20 | 052 9850 €20 | Zve |99 0| oseer | 2801 | 62ale
PED | p6c |29L0)| 60 | EBE [LO90)| DED | LAE | A050) £20 [ 892 |gBEQ| vE0 | #92 |2520) 220 | I8¢ |9IED| 020 | 652 |GLE0) 8L'0 | LSE |OPE0] SL0 | 852 |LBL'O ) L0907 | 94801 LOWL
280 | /Se |S99L| 060 | B9E |Zket| be 0 | 192 |60 | 0S80 | bS5 0690 620 | 952 |6850] 620 | 19 | IS0 820 | 65¢ |ese 0] /20 | 192 |See0] ea0 | 852 |ZB6 0| 900 5k | 948 0L | vOSVE
620 | 69¢ |JGee| 820 |ese |easv| Jz0 |6ve |wOvk | 920 [6be |ev0t| 020 | fve [1160] 920 | 6ve [0620] G20 | ove |6690] G20 |05 0650 €20 | Jve |0s7 0| oober | S/6°01 | Z09r2
860 | 262 |2s20| 160 | 182 |vi90| 620 | 022 | 150 | 920 | 597 |eee 0| va0 | €92 |ese0] 220 | 05z [9ke0] 020 | 852 [8/20] 810 | 952 |2620] S0 | /52 |e8i 0| /soar | v 8 0L | 6/1/
860 | 69 |eevh| 160 | 19% [660° | 160 | /5 | ws80 | 160 | 85 |629°0]| 660 | 855 |6950] 680 | 69 |¢Br0| 820 | 69 |Scv 0| 920 | 19 |S660) e 0 | /92 | 826 0| 950°Sw | 48 0L | @8evi
620 | 852 | 6522 ] 820 | 252 |GG 1| /20 | 6v2 | JOpk | 920 | 8b2 |pbO+| 020 | 892 [2160] 920 | 6v2 | /620 520 | 8v2 |9690] G20 | 052 | 1660|620 | /¥ 2 |2/ 0| oGber | €48 0L | Geele
BED | 162 |G/20] 160 | 6/ 9190 620 | 692 | 1150 | 920 | ¥8¢ | 266 0] 620 | 292 [0560] b2 0 | 6 |ELE0]| 020 | /G2 |#/20] 8L O 2 |eezo| 10 |82 |61 0| /07 9k 27801 | /568
GE0 | 292 |Ziwh| +E0 | 952 [660+] 160 | B9 | 6980 | 060 | 652 |689°0] 620 | 2@ 9590 620 | 19z |ver0| 820 | 852 [eck 0| 920 | 092 |v60 0] 220 | 952 |9260 | 00+ ¥ | +26 04 | CO0FE
620 | /Se |1922| 8e0 | 252 |BS/ 1| B2 0 | 6ve Ol | /20| /ve |0 L] 920 | /v |et60] 920 | 6ve | /670 G20 | 8ve [G690) Geo | 052 |0650] 20 | 8v'Z |azr0 005 Er | Li80L | EILlE
860 | 062 |G9£0] 160 | BLe |2090] 620 | 892 | G050 | 920 | 692 |/8e 0] 220 | 192 [Gve 0| be0 | B¢ | 2060 020 | 952 |8920] 8L0 | 952 |Z220| GO | 65 |vLh 0|26 9 | J8 Ok | 5649
FED | ¥z | 255 1] 1e0 | 56 [vGLL| 06D | 552 | 6060 | 620 | 952 |995°0] 620 | ¥52 |G8S 0| 820 | 662 |Gk50| 820 | 662 |Gk 0| 920 | 852 | 166 0| 220 | ¥52 | 166 0| 851Gk | 69801 | BEBEL
620 | /9¢ |E9ee| B0 | boe |vol+|Be0 |8ve |Giv k| 220 | ove |6kO+| 020 | ove [€v60] 920 | Bre [5620]| 920 | 8ve |2690] G20 | 0S¢ |9850| v 0 | 6re | G970 696 6v | 898 01 | Lv60e
260 | 68 |9vzo| teD | 222 |2650| 620 | 292 |26k0 | 520 | 297 |8/60| 220 | 092 |9ee 0] 120 | BSZ [BEE 0| 020 | 952 (0920 BLD | 552 |6+20] Sk | 552 |89ro| z089r | 29801 ] £159
0€'D | 6v'Z |GIB'L) 620 | 862 |808 62 952 | 8660 ) 820 | $9'Z |GOLO) BE0 | 652 |4190) 8BS0 | JGC |BPSO) £2°0 | 052 (€8O 920 | G52 |JOP0) 220 | 15T | IPE'0) 0025k | LOE0) | 9106}
620 | LGc |v9ee| 860 | 1s¢ |6alt| BE O | v |60V | £20 | Gve |OVO}| 920 | Gve | 1060 90 | 6ve |6840] 950 | 6ve | 2290 560 | e5¢ |v250) ve0 | e5¢ |9ev 0| 509 6v | 996 04 | 64202
EC0 | 882 |Z120] 1EO | 9/€ |e250]| 620 | 992 | wiv'0 | 20 | @5¢ |98 0] 220 | 092 [vec 0] 0e0 | JGe |80 810 | 952 |0520] 6L0 | 56 6020 G0 | vae |19+ 0| 25870 [S08°0L | L62o
620 | vve |Jvie| Be0O | bve |1ea L | Re0 | 6ve |6GL L | /20 | 092 |/6/ 0] /a0 | 852 [6890] /20 | Jae [0090] /20 | /52 |8150] 920 | 162 |sev 0| 2z0 | 052 |vGR 0| 092 G | G9R 0L | veREL
620 | /52 |9022)| 820 | @5 0oLt | B2 0 | 6vE | boe'k | 220 | 05 |s860| L2 0 | 152 [€9580] 920 | e |ov20| 920 | ¥oe |vb90]| G20 | 5952 |ess0f b0 | 592 |ovr 0| 5596w | voB0L | Z6V0z
620 | Ove |oave| Be0 | Jre |evit| Be0 | vve |9eeh | Ze0 | 6ke |£160] L0 | €52 [6940] Z20 | e [0490] 620 | 152 |8450] 620 | 152 |vZrOf €20 | Z5€ |G960| G0e ov | 208 0F | eZber
060 | G¥'e |9/02| 620 | £vZ | 1651|620 | 952 | 16H 1 | 820 | 95 |0680| /20 | /G2 |82/ 0] Z20 | /S [ 1690 920 | 092 |2090) 920 | 252 |2e50] ¥20 | 552 |9ew0| G0 Er | 296701 | G202
Ge'D | BEC |689°C| 8E e | 90671 | B eve | 19F L ) 20 | v LH0LY 920 | Ly 858°0] 9¢0 | 05 |eEL 0] 920 | 252 |AO0) S20 | 9v e |ASO|ES0 | 852 |E€8E'0 | O5€'Sk | &8 0F | 0562}
60 | Ove |060¢| 060 |8 |vas || 620 | Ove | Iveh | 820 | 19¢ |ava0| 620 | 192 [e540] Ze0 | 6Ge [v290] J20 | 192 |5650) 920 | 65¢ |6250) 20 | 952 |Ser |55 er | 580F | £5002
620 | BeZ | /882 820 | Jve 910 | B2 0 | evE [ Go5k | /20 | \bE [e60L]| 920 [ 2ve [9e60] 920 | /v |v820| G20 |25z |1990] 620 | 162 |gps0fez0 | 852 |Sor 0| 9ovSe | 858701 | 82szh
LD | 0v'2 |evi@| 060 | BEg |BLO'L| 620 | 662 | wle b | 620 | 652 | 166 0] 620 | 192 [G920] 820 | 092 [ 9890 J20 | 192 |#090] 520 | 852 |60 b2 0 | 952 |vrr 0| G086k | 85801 | LEBEE
G20 | BE'Z [BLEZ | 8 pE | 180°¢ | B vZ | 0LE'L | s20 P GEL'LY 920 | b2 |9960] 920 | /g | 9l8'0) SE0 G2 [2R90) veD | #62 |/9G0Q E20 | 1S2 |E2P 0| 9GP GP | 9GE 0L | S0GE L
£0 | bvg [vvez| 1eo | 262 (26971 060 | 1w |oeeh | 620 | 05E |6ve 0| 620 | 655 |0180| B20 | 25 |90 250 | /5 [0vo0] 920 | 252 [ 1950 G20 | 852 |69v 0| sse'er | 958701 | 60961
L 3 | % | oL | a9 | ™ | 21| o4 % | oL | %3 | e | "L | 4 | ® | 2L | %4 ® | 0] 4| ™| o] ca] o] el ® | va|nNo1] a
SivE=tL §26="1 gip=bL bzt op )=ty 101=H) ZL=iL 05="1 0g=ty

— 500 —



80 [ G5c 9854 E'0 | 95C |6PL L) LEO | ¥S5E |SO60 ) 620 | 85¢ |899°0) 680 | §5¢ |g850| 820 | £€5c |SH50| 820 | 55 [EvP 0| 920 | 852 |6880) S0 | #S'¢ |62E'0D | BSL'Gr | v6 0L | GEBEL
[ 620 | /e |e9¢c| Be0 |25 | 1921 | B2 0 | Bve |2t | 220 | ve |8v0+| 920 | ive |2+60) 920 | 6v e |G620] 920 | Bve |v690] G20 | 192 |6850] ¥20 | 6¥ 2 |0Zr 0] L0567 | 66601 | 7ok e
vED | 6BE |6590| 60 | BLE |EES 0| BE SOE | WPO | Sc0 | 198 |EPEQ) 220 | 652 |S0E0| 020 | 95 | LA20] 610 | 292 |SEED) 91D | ES AELOYSIHO | vSE |pSL0 )| 658 97 | BEE 0L | €628
060 | 6b'2 |68/L| 620 | 65E |v6e || 620 | J52 | 066'C | 820 | vO' | 000 620 | 652 |2100] 820 | 952 [Sk5 0| 220 | 1SC |6/v0] 920 | 952 |s0v0] @20 | 152 |ovE'0 | soz'sy | BEE DL | Z19E1
| 6270 | /5C |S92°2| 8F0 | €5 ral'L | BE” LVPE | AL ) 20 | S BrO'L] 420 | 9vE [LI60) 9270 | BY@ |€64°0) 9270 | BV'E |069°0) SE0 | V52 |PBGOY P20 | ISE | w90 | /SGEF | ZE6°0) | 2PE0E
620 | vve |Ockc| 620 | 6ve |ehs k| 620 | 6ve |Svh k| 720 | 19¢C |6BL0| Z20 | 652 [£690| /20 | [5¢ | 9650 Z20 | /52 |0150| 920 | @G¢ |ecv0| 620 | 0S¢ |256 0] 852 5% | 98604 | S66EL
620 | 962 |8G2'2| 820 | 162 |0GL L | B0 | 8b'2 | 868} | 420 | [ 9201 | 820 | 8p2 [688°0) 920 | 062 [€L°0] 920 | |52 (8990 G20 | ¥G2 |8950) P20 | €52 | bSO | L09EF | GEE'OL | 02202
G0 | Ove |LEP S| BE0 | JvE [SEL BED | v¥E |ELEL ) £2°0 | 0S¢ |8060) J20 | #5¢ |€9.0) 420 | ESE | #9901 920 | 0Se [HS0) 920D | 1SE | Wy OQEED | 95°€ |E9E'D | BOE'SY | EEG0L | ELLEL
60 | €53 |20zc| 620 |e9e |v99t | Be0 | 6vE | 646k | 260 | 1S5G |a960] &0 | €55 |ce8 0| Je0 | 652 |06 0| 920 | 952 | 190 950 | 99¢ |90 Gz 0 | 992 |67 0| £59°6w | 66601 | B6K0
620 | 882 |Zi9°2) 820 | ¥ vEe'L | BZ' EFE | ISP'L | 420 | P2 | 6001 920 | Lb 1G8'0| 920 | 0G'2 |BEL'0 ) 920 | 25’2 |SI90) 920 | S € |8IG0) v20 [ 922 [ 18E'0 | §GE'Ch | LEE'0L | 1S621
060 | 2b2 |¥602| 620 | eve |85 1| 620 | ko2 | 16H L | 820 | /5C |6/80] 820 | 652 |0//0] Z20 [ 85 |90 /g0 | 192 [0090] 920 | 252 |eeso] ¥2 o | 952 |Zev0 cozer | bEGOL | 92208
Ge0 | 882 |fe8c| 820 | 4 800°'¢ | B EFE | ar5 480 | W@ |880°}) 820 | EF L2G0| 980 | i 1840 520 | @5 |0890) S20 | 5 |SPSOJEE0 | €5 |wOR'O | B0V Sk | GEG 0L | GE2at

0 |Oove |2602| 060 | BEE [GBS || 620 | Ove |Svel | 620 | 65¢ |6s8 0] 820 | k9@ |e5/0| 820 | 092 |v/90| /20 | e9¢ [S650] 920 | 65¢ |0650| G20 | 952 | /6w 0| /5/ e | 626 0L | 5002
520 | eez eiez] 8zo | Jve |Jsoz ez | eve | 909k | se0 | ive [seiifoeo | tve [vo60] 920 [ sve [ere0]sz0 |ose [1690) veo | vie [ses0feco [ ose |ezwo]esvcr | 2601 | Josar
[ 160 [ 1’2 [6vig| 060 | 8E@ |ba9'l | 620 | 68 | 082 b | 6e0 | 25¢ | /680 820 | 192 [6940| 820 | 092 |0690| 20 | 192 |8080] 920 | 652 | 50| Ga0 | 852 | bv 0| L0g'ey | Lg6 0} | 20861
620 | 662 |256¢)| B0 | 9ve |ghic|Be0 | 6ve | 869k | 220 | Iwc |691 1] 920 | Lwg [6860] 920 | Sve |6680)| 520 |6ve |6120] %20 | 552 | 1850|660 | 05¢ |967 0| 605 6v | 526 0b | GBat
gE0 | W@ |65 | IE0 | BE'E |BOLL | DE avr'E | EEE'L | 620 : ‘0] B20 | 852 |[GL8°0| 820 EELD ] £8°0 S'E |Lv90D) 820 | L5 950520 | E5'2 |B9v' 0| /S8 ER | SE6°0L | OLO6L
[ 260 [ ove |espe| leo |B6¢ |08 L] 060 | bbe |Gopl | 820 | B20 | 15¢ | 1160|820 1080 | J20 | 2S¢ |20/0]| 620 | bGe |6090] G20 | I |66r 0| J06ER | €26 0) | BBEG] |
620 | Ov'E |£96'C| 820 | ov'E | IEVE] BE PYE | 259 480 920 | MWE | 6660 9270 ¢S98'0) 520 | 8v'E |gaL0) ¥EQ X 850 €80 | 05'C |EFF 0| 855G S | €26 0 | €90} |
260 | 662 |9/8E| 620 | BEE |eSle| 620 | 6eC | €89k | 820 [0 | ¥Fe |50k 220 260 /20 | /¥e [/8/0) 920 | Bve |6290] G20 | 6FE |/EG0| L56EF | L26 0L | 996
| 620 | Ov'@ |BA6Z| BZ'0 | ove |IELZ] B e | ESEL ) /20 920 | W2 |00a'L) 9270 258’0 520 | By'E |EE/0) #20 52 |0BS0) EZ0 | 6FF | prr' 0| BOS'SE | L26'0L | LEFBL
Gi'D | @kd |ObgE| B0 | WS [ZEFE| BED | EVE | EBB'} | BE'0 LE0 | BE'E |002°h ] L80 CEQL ) 980 | Ske |BLBOD| 920 |ake |BRLO)SE0 | AvE S50 200K | 66 0L | PHEEL
620 | 68T |856C) 8T0 | 9¥'C [Gi'E| BEO | €¥E | vl | £20 920 | b2 | bEE'0]| 920 gv80) G20 | 6vE [GIL0) ve0 | G52 [vBSO) €20 | 6V |6EP 0| 859Gk [BIEOL | G101
cED | OvE |SHPE| B20 | evd |4552| B20 | Iwe | EB6L | 820 L80 | BE'Z | 042 ] 420 ML) 920 | vvE (9260 820 | 52 |EBLO0) S0 | Svg [209°0 ] JSOPP | 96 0L | 22484
G20 | BE'E |fe6'E| 820 | Lve [BBOC| BE0 | E¥E | wiOL | LE0 920 | éve |0L60] 920 0SB0 S2'0 | 05 |B8E0| w20 | €5 |50 €20 | 8F'E | Lev' 0| 80L°Sk | 9L6°0L | L6EL )
cED | OvE |SevE 20 | Obe (04972 4 682 | wODE | 820 L0 | 9E'2 | 98c'L | 420 960° L) 920 | ¥pe |OVE0) 920 | SrE |96L0) G20 | Sv'g |SHO0| L0 PP | PEEOL | QOSEL
620 | BEZ | /58| 820 | /ve |i20e EvE | vesk | 220 920 | &Pc |1E60]| 920 6820 Sz0 | 052 |0/90] vz 0 | 6vZ |2G50| €20 | 6V |8070|8525p | PhE 0L | SLbbL
28’0 | 2¥'2 | JG2E 0 | BEE |08kE] B2 or'2 | 8261 | 82'0 J20 | LY 82e'L ] /20 0L ) 220 P2 |Fe50) §2'0 | th J220) 620 e G080 51 pk | 21601 | 82281
620 | 86 |GHic| 820 | Jve 9261 | B20 | eve | 2Zv k| 220 920 | 9v2 |4980] 920 vZ0| G20 | 052 [£290) G20 | €v e |ges 0] aa0 | €52 |28e 0] /085F | 2k 0k | £SROF
SE0 [ egc |OMBE| 60 | JvE |Zkce| 620 | 09 |6vk | 820 B20 | Gka |tk E]| 220 00+ | 720 | Sve |9/60) 920 | v |15.0) G20 | 8vE [v650| 02w | 160 | 95084
620 | 662 |66p 2| 820 | Jbe 601|820 | pve | ZpE L | 220 920 | 152 |0820] 920 290|620 | /v2 |6/50] G20 | ov2 |9/b0f 220 | 652 |05 0| LG8 ck | 160k | Les0b
26D | G6e |8850| 0c0 | vBE | L6k 0| BeO |8z [SLkO | b2 0 [ 620 | /72 |Gle0| 220 6820 020 | 622 [2920) 020 | G9¢ |z 0| /10 | v92 |p6L 0] 9092k | 806 0L | GSISe
el | 652 |CB9E| 060 | 55°@ |BS0'E | G pS'e | LE9°4 | 620 820 | 8ra |E80°L | 820 LS60) L20 | Brc |JCBO) 920 | Br @ |FEL0) SE0 | GF'E |GLS0 | /SE bk | BOGOL | #EBLL
[ 620 | 2ve |B0ze| 820 |Bve |10 1| 820 | 8ve |27k L] J20 | /20 | vSe [G690) 920 0090] 920 | €52 |B6050) G20 | 852 |viv 0| k20 | G52 |06e 0| J06Sh | J08 0L | BOSOL |

£'0 | 86'2 |E25'0| O£'0 | S8'2 [025'0] B2 k82 | eFP'0 | 520 2o | 84 £0] 220 SOE'0) 020 | #A2 | 4420 020 | #O2 [LP20] 410 | 692 | #02'0 | 959 Er | S06'0L | JEG6FE

0 | 85¢ |0192| 060 | ¥5E [B00Z| 620 | 852 | 2651 | 620 B20 | 052 |EPOL| 820 G260 | 20 | 052 [8080| /20 | 6v2 |€0L0] G20 | 052 |9950 | L08 ¥ | 90604 | 2492
0ED | /v |vaB'L| 620 | ESE |02E'L | BE ESE |EOD'L | 2270 J2'0 | 652 |S09°0) 920 BES 0] 920 | 95¢ |9vk D) #20 | 8SC |IBE0) OC0 | €S |OLE'D | /S6 Gk | SO6 0L | ZBEOL |
gE'D | 962 |¥39°0| OE'D | S8 |255°0| Be'0 | I8¢ | ELk0 ] 9370 Vel | 54 | ISED| @20 cgE'0) 120 | ELE |E6Z0) 600 | &22 |8520) A0 | w92 |8Le0 | 50L 2k | WOEOL | Slive
Fe'D | G2 |PBSE| 00 | IGF | ME67L | 620 | 152 | GBSTL | 6270 B20 | 052 |020'L] 8270 SO6'0) L20 | o2 | I6L0) L2°0 | OGF |8890) G20 | 05'2 9950 | LSE WP | #O6°0) | OELL
gED | VS'Z |OpS L) bE'0 | ¥SE |90V L) BE0 | 892 | L8680 | 820 880 | 658 |285°0) £80 0LF0) 580 | 952 |90r Q) 820 | 552 8550 640 | V52 | 660 L00SF | 806°0) | 52004
L0 | G6'¢ |ELL0) OE0 | w82 |0BS°0) BE'O | 082 | 050 | 920 G20 | L2 |E£0] £20 EVEO] 120 | L2 |2IE0) 020 | 042 |6L20) 810 | vO'2 |2E2'0 | 952 2p | 206701 | £6pP2
LE'D [ §5'@ | /BS@ | OF fr'a | S6l Bé” Av'a | 6BS'L | BE0 BE0 | 6ra |[ELOL vERDY /20 | 152 |IB/0) /20 | 062 |A/90)Ga0 | 058 | /w50 /0F b | 20601 | A9L/L
560 | 952 W62 +| 660 | 49T [aa60] 160 | €9C |veL0 | 060 820 | €5¢ |08r0 Ber 0| vg0 | vz (1860 Fc0 | €5¢ |66 0] 610 | 05C |Sic 0| £S509F | 106 0L | EVBE
LE'0 | 862 |BELO) 08 SB'EZ | eS80 B2 082 | SPS0 | 92°0 G20 | 842 |BEED 98’0 | 220 LE |EEE0) 020 | 892 |BEZ0) 610 [ €92 |6PE'0 | S08ZF | 601 | LLEVE

D | 2S¢ |0L92]| 06D | OFe |vh0e| 2o | Ghe | w09k | B2 0 820 | 6k 2 |B00'L| B2 0 6880 | /20 | 052 |220) 220 2 | /990 G20 | 6v'2 |BES0| LGvvF | 66801 | SPES)
JE'D | S9€ (080} vE LA L -8 042 | EE9'0 | 620 BE'0 | €5 FHadl Y SGED| €20 | €52 |8SEOQ) 20 | ISE |BLE0] BL0 | 8FE | 1920 ] L0 9K | GEEOL | 1295
OED | 96¢ |GEBO| CEO | See | 690 Be O | 08¢ | GBS G | 920 G20 | /¢ |6ev0| veo 0BE0| 220 | 692 [GSEO0) k20 | J9¢ |Bre 0| 610 | 92 |9920 | 958 er | 868 01 | GrOVE
60 | fvz |8592| 060 | Ive |9v0Z| 620 | OvE | 229k | 820 B20 | Gpe |SHOL| 82D 880 /20 | eve [¥9/0] /20 | 052 |9590] Geo | 6ve |825 0] f05wr | /68701 | 72491
L0 | 662 |86810] SE0 | 06 6040 EE0 | 692 | #8SD | 620 [20 | 152 |00 beo JE0| 220 | voe |66 0] 020 | 252 |8620) 610 | ove |vre 0| 25+ or | 96804 | 6666
0ED | 062 | /EG0D)| 6 c8¢ | 190 BE 6.2 | 2v9'0 | 920 Gan | oL aapo|) G20 O2b'0) €20 | J92 |6/80) 20 | S92 |oPE0) 6L 0 | 192 |pe20 | 9062k | 96801 | [28E2
EE'D | SkE |BEIE| LE'D | BE'E |6I0°E | 620 | SEE | SKI'L | BEO BE'0 | EVE |OLO'L | BED 9980 ..“Iw.c AVE |05£0) L20 | 05 |OFD0) SE0 mlw.m 9150 | /55 | 56801 | 20591
I.ol._. o % | 2 T h L B 1 on ™ K n B | h o | 2 L o 51| o4 Ty .ul ] % | 2 1 5 T 1V zIo._ a_|

SipE=tL §26=1 gip=tL op =iy 101=H) ZL=iy 05="1 og=ty

— 501 —



260 | 853 [2092] 060 | eGe [e002] 620 | 25c | €65k | 620 | 152 [64h +] B2 0 | 052 [6804] 820 | bre | 1a60] 220 | 162 [5080] £20 | 6v 2 [0L0] G20 | 052 G960 60E by | 04604 | ELOLE
¢t'0 | €5¢ [SESL| L0 | 55¢ [90V L | BE0 | L9€ | GERO ] B0 | 892 |0190) 820 | 092 |PESO| L20 | €6¢ 2P0 920 | 952 |BOPO| €20 | 952 |6580] 020 | 252 [262'0 | 6009k | GL6°01 | 99004
260 | 962 [0/50] 060 | s8¢ 2550 Be0 | 08 | 2/v0| Ze0 [ 8/¢ |sBE 0| ¥ve 0 [ Gie [¥se 0] 6e0 | vie [sec0| te0 | Ele |9660| 6L0 | 12 |S9z0| 8+ 0 | v9e |Cee 0| /59 ev | #2604 | BEGVE |
60 | 052 |PBs2| 060 | Se [266+| Be0 | 0se | 085+ | 620 | 1o |¥OF+]| B20 | 152 |JF0L| B0 | 0S¢ [E060) J20 | 1Se [6820] J20 | 052 |2690] G20 | 052 |SS5 0| 6acvr | v260F | koELL
PED | 952 |J62°H ) €C°0 | BYE [J26°0) 1E'0 | 9 | JELO) 080 | €52 | 0550 680 | €52 |€8F 0| /20 | €5¢ |2EvO) vZ0 | #SE [E8E0) 120 | €52 [BEEO) 610 | 052 |9/2°0 ) 650°9F | €/6°0) | ¥PBS
160 | 962 |9, 0] 060 | ¥Bc |6650| 620 | 082 | 0450 | 220 | 52C | v 0] G580 | 642 |G460] 620 | 22¢ |5v60| 820 | Ile |GI60] 020 | 692 | 1620|610 | 692 |S62 0| L0 av | 34601 | Ghiva
60 | vG2 |vese| 0eD | By [ 1002 | 620 | b | G651k | 620 | 8v'E |0V | 820 | 6va [€l0L| 820 | 6ve |pEEO| J20 | 152 0820 220 | 05¢ [9290| G20 | 052 |6vS 0| 80b b | 22601 | 69121
550 | v9c |68k | GE0 | 122 [ 1080 | EED | 02 |0¥D0 | 0EC | voe | 0060 B20 | 252 |Ovv 0| 920 | GG¢ |BBEO| £20 | ESe [1OEO| 120 | 05¢ |0ze 0| 640 | Bve |2920 | 60L O | L2601 | 2296
160 [ 96 [os20) 0g'0 |98 [ove0] 620 | 622 | 2v50| 9c0 | v |evw 0| 980 | eie |oovo| ve0 | 12 |ese0f 2z0 [ 0sT [secof oz0 [ 89¢ [ooso| 610 [ 29 [ise 0] tsear| 601 | vervE
10 | 05 |6e92| 0c0 | bve [Be0c| 620 | vre [vio'L | 820 | Gbe |84 1| B20 | 8ve [gh0L| 820 | Bve 8880 Zg0 | 05€ [ 1220 Zg0 | 05¢ [9990] Ge0 | 6ve |Ze50|8svvb | 69601 | Zv69k
860 | 262 |2160) G0 | 08¢ |Fh.0| BED | 692 | 0650 | 620 | ¥5e |[9v 0] /20 | G52 |GH 0] G20 | vGe |2/60] 220 | £Se |0ve0] 020 | 152 |10e 0| 020 | Sve |9ve 0| 654 9v | 896 01 | 00¥6
LE'D | L6 |9ER0) OE0 | SB'E |60 G20 | 082 | AB50 | 920 | v4@ [Lp0) SS0 | L8 [ MEPO| bED | 0L |E6E'0) 220 | 6O |SSEO) 120 | L92 |OSE0) 6L 0 | 19E | /920 | L0682k | BOG0L | 2lcve
260 | Gbg |BBIG| 160 | BEE |¥90c| Be 0 | Bee | 960k | 820 | ava |9BF F| Ba0 | Gva |SHOE| B0 | Jve | 2280 Za0 | 8ve |1920] J20 | 052 |2590] G20 | 6ve |95 0| B0S¥r | /9604 | Gas9t
860 | 06 |oes0| 960 | wZE |Zs90| Ee0 | J9C |pSS0| 620 | 95 |Jev 0| 20 | 852 | 16e0] k20 | 95¢ [sSE0| 220 | ¥S€ |ege 0] 020 | €5¢ |S820] 610 | 6vE |Lec 0| 6029k [ 99601 | BZIE
08’0 | 06'2 |ee6'0| 06’0 | 28°F |29/°0| 820 | 622 |evo0 | s20 | 2/2 | /150|920 | ol2 |Jov0| 520 | es'z [levo| 20 | /6% (086 0] 120 | G92 |weo] 610 [ 192 |sez0 ssear | 99604 | 0SovE
CED | Gve |ZB89c| ge0 | Ove |Gv0c| 160 | Geg | 929k | 6¢0 | 66 |6/F F]| Be0 | eva |g00L] 820 | Jve [B560) Z20 | Ove |pre 0] Z20 | 05¢ |G690] Ge0 | 8ve |2t 0| BSG ¥k | G960 | £0S9E
06D | 082 |960°L] 620 | 5/¢ |5280]| Be0 | a/2 | 9220 | 220 | 89¢c |6950] 920 | 992 [€450] 520 | v9e |69r 0| €20 | ¥92 | ik 0] 220 | €92 |99 0| 020 | 652 9060 | 206 ev | ¥96 01 | Beste
6ED | GB2 | J0B0| 960 | I8¢ |6290| BED | 692 | 8250 | 620 | 662 |PIv 0| /20 | 662 |#I€0] bed | JGe | IvE0] 120 | 662 |J060] 020 | 562 | 1720 610 | 652 |6L20] 662 Op | #9601 | 9568
LE'D | BE'E |GIEE E'0 | BE'2 | WwLE ] B2 v'E | PES'L | 820 | OF'E |ESLH ]| BE0 | EF vie0)| 820 | B2 |EEB'0) 820 | 8vE [g2L0) L0 | VSE |ELO0)SE0 | 8FC | 9670 | 809 vP | €96°0L | LEEOE
620 | 892 |Gee't| 620 | 59%¢ 9601 | B2 0 | v92 | OvBO | 220 | 292 |eb9 0] 920 | 192 [ 4250] 520 | 092 |vk50] 20 | 852 |55k 0] €20 | 092 |vee O k20 | /52 |66 0| £56 aF | 296 01 | 90962
OvD | 6Re AR/ 0| 960 | 2Rz [S090| FE0 | 0/2 | 6050 | 620 | @0z |/6R 0| 920 | 092 | 198 0| B2 0 | BGe [hecD| 120 | 992 |9620] 6LD | /52 |0920] 9r0 | 857 |00 | 608 ar | 29601 | ¥e/8
60 | @ve |SEEE| B2 0 | Brg (vl @| B0 | BYE |SEQ' L) BE0 [ 8ba |LPLLIBE0 | Wd | ME0) BED | Lk |LIBD| 820 | Bkg |£L690) 20 | ISE | I650] 5280 [ JvE [BLF0 | 859k | LOE0) | 65091
620 | B3¢ |20} | 820 | Sa¢ [08c V| 220 | S5¢ | 600F | 920 | G52 |8VZ0| 920 | G52 [€590| 920 | 95¢ | 5250 G20 | ¥ae |Z050| €c0 |G5e [vevO| v 0 | 85¢ |Ese 0] 00 v | $60F | vetee
OFD |06 |B5.0| 9c0 | €62 |6BS 0| E60 | h22 |GV O | B2 0 | €92 |/BE 0| 920 | L9¢ |ese0] 2e0 | 65¢ [0250| 160 | 85¢ |2820] 640 | 652 |+560] 940 | 65¢ |+0e0 | 65697 | €6 0L | 2458
620 | vve |v/6e| 820 | ESe |e0re| J20 | 852 | €8sk | 220 | €52 [8rbh| Z20 | fve [2560] 280 | vve [9080] 220 | 6ve |e290] 220 | 052 6250|520 | Bve |85y 0| 60 vb | 6660k | 28851
820 | BS'g |9902| B0 | Bre [295°L ) L0 | LvE |GLe'l | 920 [ g |948°0) 920 | 6p 2 | 8520 920 | 052 |2S9°0)| G20 | @52 |2950| ve'0 | 6F 2 |08y O] 120 [ S5'2 | LLE°0 ) LSOERF | BSEDL | 29LEE
660 | 162 |Be/0) 560 | 887 |B250| 660 | @/@ | SBYO | 820 | 692 | vBE 0] 560 | b5 [ve 0] ce0 | 6G¢ |6k 0| 420 | 692 |0820] 60 | 052 | 0] 940 | 09 |56k 0| 6oy 9v | 856 01 | 06es
620 | vve |vose| B20 | e5e |e0e| Jz0 | 652 | 895k | se0 | /G2 |00 +] J20 | 252 [Ge60] se0 | Gve [vBr0] J20 | Jve [/600] J20 |25¢ |svaofce0 | 052 |8er0|esi vl | /66 0L | GLOGE
820 | G52 |B0ZZ| 820 | BYE (6691 | /20 | 9v2 |veE't | 920 | Sv'z 9960 920 | /b2 |Se80] S5z20 | vz [9kz0| Sz0 | 162 [8090]| veo | eve |teso] @z0 | s52 |80 /0L Er | 95601 | ovhee
860 | a6e |eb/0| SE0 | E8C |es50| ge0 |ele |oov0|Be0 | v9G |60 Ge0 | e9e | ve0] ceo | 09 [BoEO| 120 | 692 |G/20| 8+0 | 09¢ |68c0] 9t 0 | 09 | k60| 65k |SS6°0L | 8908
620 | &b |Iv62| 820 | 652 |650¢| /20 | 652 |0e5') | 920 | 852 | 650+ | 920 | /G2 | /880 Z20 | iv'e [96/0| /20 | ive [2290] /20 | 152 |2250] G20 | 652 | Hiv'0 | 808pp | GG6°01 | £6ESH
620 | 8G¢ |Gvez| 820 | 062 |vel 1| /g0 | ob2 [8/6L | 920 | o' [800°L| 820 | ov2 |0/80] 620 | 8v'z [6S/0| G20 | 6ve |GvO0| ve0 | 6k e |svGo] 220 | 052 |Ser0 | /Giek | ¥S6 01| aLiee
200 | v62 |B020] v60 | ¥Be 6950 260 | aZ@ | 22v0 | 820 | ¥9c |¥/6 0| ¥a0 | @92 [pee0] 220 | 09 |5060]| 0230 | 692 | +220] 6L 0 | 952 |5620| 6+0 | 092 | 2840 605 9F | €56 0F | 9veL
[ 620 | vve |Jo8¢| 820 | eS¢ |g66 ] Je0 | 852 | Gib k| 920 | 09¢ |J66O| Z20 | 952 |Je80| 820 | Jve |2 0| JE0 | Bve |2650) J20 | e5¢ |e6v 0] G20 | 85 |B8E 0| BG8 bb | 6SE OF | LZIG
620 | /52 |vsee| 820 | toe |zvi V| 220 | Jve | weeh | 920 | obe 820 k| 920 | Gv2 [¥680] G20 | ere [6420] G20 | 8ve |8990] v20 | 05 |5950) 220 | 8¥ 2 |vrr 0| L0 eF | 25604 | 9bvee
460 | G612 | 20L0| PEO | ¥BE |6950| 160 | F2Z | 2/b0 | 220 | ¥9C |8/60| v20 | 292 |9850] 220 | 16 [E060] 020 | 652 |8920] 640 | 452 |2620] 910 | 652 |€8L 0| 6559F | LGEOL | beds
620 | Gve |e99¢| Ze0 | vae |zesv| Ze0 | 852 | bsek | 220 | 19¢ €060 /20 | €5¢ [€920] 8e0 | 6ve [vwo0| Z20 |6re |8v50] Z20 | ¥Se |Sv 0| e 0 | 65 8960 06 v | 1G6 0L | GrvE
620 | /52 | /56| 820 | 25¢ |esiv| sg0 | 8ve | vOv'k | 920 | /v |/e0 | 920 | 9k | V060|920 | Bre |B820)| 20 | Zve |€890) v20 | 0S¢ |8L50| €20 | Z¥E | /5w 0| LS2ev | S60F | vieee
96’0 | 967 |90L0) €E'0 | 8T |69 160 | 042 |94P0 ) £20 | PO |24670) £C0 | €92 |GEE0) 220 | 192 | 10E'0) 020 | 852 [S920) 610 | 952 [8220) 910 [ 852 (0810 ) 6099F | 6VE0 20rL
620 | 5¢ |09bc| 820 | B3¢ |ghat| BoO | 85¢ | ek k| 820 | G5¢ |96£0] 620 | 058 |6990] 820 | UG | 6850 820 | 452 |Z8F 0] £80 | 652 |6kP 0| 620 | 65¢€ |0560| 86 PF | 876 0F | Zazvh
620 | 89¢ |B9ce| Be0 | eae |valt| Ze0 | 6ve | wOvk | 920 | 8be |ev0+| 920 | Lve [0160] 920 | 6ve [G640] 520 | Jve |€690] G20 | 052 | 2650 €20 | Zve |997 0| 0ger | 8v6 0L | 25022
GED | 962 G070 EEO | #8e 895 0| 0B 0 | 692 | G/v0 | /20 | 9z |0/E0] f20 | £92 |ere 0| 220 | 09 [B620] 020 | 852 2920 810 | ooz |vez0| k0 | /52 |9/L0| S99 | 7601 | 0817
2E0 | /52 |89 | 080 | 29% |eact | 620 | €92 | 2950 | 0s0 | 25 |8690] 620 | 252 [¥090] 620 | 5S¢ |2es 0| 620 | 652 |esk 0] 220 | 192 |s6e 0| e 0 | 85 |see 0| BoOSY | 9v6 0L | SoSVL
620 | 852 |J5ee| Be0 | 25 |ealv| Ze0 | 6ve |SOvk | 920 | 8ke |ev0+| 020 | 72 [L160] 920 | 6ve [2640] G20 | 8ve |9690] G20 | 052 | 1650 €20 | Z¥e |eLr 0| LSe 6v | o76 0F | GeBrE
VED | G62 |2020] 260 | 28¢ G960 060 | 692 | 22b0 | 920 | ¥9¢ | /96 0] 620 | 292 |6ee 0] k20 | 092 |62 0| 020 | /G2 |8520] 810 | GG |6k20| GLO | /G2 | 1210 | 60L 9% | Gr6 0L | 8568
EE'0 | B8C |BEW} : 29¢ [ MOV L] LE S'C | 848'0 | LEQ | 6S° ors'0| 620 | 89 0950] G620 | I8¢ |e8r 0] 820 | 662 |vEPO)| 920 | 1802 |PEEO] EC0 | 852 | /260 ) BSOSk | w6 0L | £BEV )
620 |85¢ |B5¢e| B0 | €5¢ |PSit| BeO | 6ve |o0p k| 920 | 8ve | PPOF]| 920 | 8F 60| 920 | 05¢ |e620| S20 | 8ve |2690] G20 | I5¢ |e650] €20 | Jve |vire| Jover | pre 0t | 808l
veD | v6z |e690] 280 | 187 8550 | 060 | 892 [S9v'0 | 920 | ¥9Z (298 0] €20 | 292 [€2e 0] bz 0 | 6G¢ |BB2 0| 020 | v5E |29 0] 810 | €52 [8120) G0 | 952 991 0|65/ 9v | 2v6 0L | 9849
BED | 292 |2lw L] 1E0 | 952 9601 | VED | 852 | #5BO | 060 | /52 |0690| 620 | /G2 [G550] 620 | 862 | /Br 0| 820 | 652 | k0] 520 | 092 |2660) 220 | 952 | 526 0| 60LSk | ar6 0k | LoOVE
G0 | BG2 [0822 | 8 262 | 4GLL ] BE Gy'2 | GOP'L | 220 | 8 SP0L Y 920 | BP 2 |ZLE0] 920 | 062 | Be6L 0] SE0 Pe [AE90) G20 | G2 |eRS0)bea D | 8¥'E |v/p'0 | JSPEP | ZPE0L | SBELS
VED | 26 |Bs50| 60 | 622 |Zv50| 620 | 9% |wak0 | 560 | 69 | V60| ae0 | 092 |S1e0] 120 | BSE |0820] 640 | 652 | bk 0) 940 | €5 |9020) Gk 0 | G52 |09 0| 6085F | vA 0L | vise
Sl fa | ™A™ ] ] % % | oL | %3 | e | "L | 4 | ® | 2L | 4 ® | 0] 4| ™| L] ca] o] el ® | va|No1l] a
SivE=tL §26="1 gip=bL bzt op )=ty 101=H) ZL=iL 05="1 0g=ty

— 502 —



45cc) 820 | gSc | ISLH) L20 | By | MORL | 960 | Lve | LBOTL) 950 | SFE | w060 EB00) w20 | 052 |BL50) 820 | iFc |8Sw 0| 605 EF | c0 kL | L6FTS

SL9°0| PEO | 28 [PPSO IEOQ | 0LC |ESPO | £2°0 | €9 |95€0) €20 | 092 |6IED

ISE0) 60 [ S5C |PICO)SID | 852 |OLL0] 999 [6R0LE]| LELL
820 | BS 86y | | BE 652 |Gl L BEQ | 952 |9640) 620 ) LS5 [EL80 :

g8r 0| LED | 85 BLPOJECD | 65€ |GPED | 6567 | 610 1L | HEAVL

g
4522|820 | ese [25i k] L20 | 6k |EOPL | 020 | kg | IROH) 920 | Lk e |BOE cBO0)Sc0 | 0S¢ |4BS0) €0 | Jv'E |00P0) 652 CR | BLO' VI | G2a22

#9590 #E'0 | 182 | B850 I 892 | LvP'0 | £2°0 | 29 1Se'0 | E2°0 | 092 |FIE SPE'0) 640 | 52 |EOZO)GL'O | LS'2 |GOL'0) LLOY | LROTHLE | 6G6S

ISv0| /20 | 192 |v66 0| 220 | 852 |vEE 0| 6006w | Zb0 1) | G0GTE

0

-— e —. °

S99°L| 0£'0 | 29'¢ [S22°F | 62°0 | ES'2 | 1960 | OE'0 | 6FE |S0L°0] 620 | 292 [S09°0
0

8522 820 | 252 (VG2 L] J20 | 62 |SOP'L | 920 | 8b'E |¥ROL )| 920 | 8P 2 | 216 G690 G20 | 162 | IEG0] €20 | g [E400 | B0EEP | 9LO'LE | 85022

E59°0) EE0 | 08¢ |OES'O) IE'D | A9 |OFPO | 920 | 292 |SPEO| ES0 | 652 | BOED Or20) 840 | ¥S2 |EQZ0)SI0 | 952 |09L0) 8.97 |SHOLE | JE/G

— 503 —

gev't| 60 | g9 [s60+| ve0 | 85e | 2280 ] se0 | vae |vva0| 060 | 896 [8990 6v0] 920 | to¢ |esc 0| ca0 | 29 |see 0| 6505k | Sb0 + | vBar
6522 82'0 | 892 |SSL} | BE 052 | 0P | 92°0 | 6F'2 |S#O°L ) 920 P2 |ELE0 609'0 ) G20 | IGZ |e850) ¥20 | 802 |94 0 BSEER | PROTLL | LEGLE
0po0| €60 | 822 |6150] 060 | 692 | 06v0 | Geo | 16 [/660] 220 | 852 (0080 2620|940 | b5 [9610] 510 | 552 [#5L0] Loy |erovs]| Sise
oo’k 0| 485¢ | 6807 LE 5¢ |GvBO ) 080 | 85¢ |G¢80) G20 | 45 £55°0 ] GEP' Q) G20 | 652 |Hee0fec0 | 85C |E2C0 | GOF Sk | EROLE | 200K}
0922 820 | 25¢ |95L1 | B2 0 | 6ve |80V k| 260 | 8ve |Gvok| 920 | Bv e 2160 8690 Sc0 | 15¢ |€650] vz 0 | 82 [S4v 0| 60ver |2L0LL | AoaLe
Ses0] eco |5z [2050]| 060 | v9e [6b0] Ge0 | 092 [8ee0] 220 | Z52 1620 v2z0] 910 | €5 [06L0] G0 | voe [evio]| 989y | tho 1k ] B629
P15t | 160 | 262 |8t k]| 160 | 652 | 66810 | 620 | 852 [659°0] 620 | 652 5250 6ev0| 920 | 852 [2850] 220 | voz |Zee 0| 6ahor | bbbk | OpBEL
192|820 | g5¢ |64+ Bo0 | 8y |0 b ] 70 | /be [ovot]| 950 | 8va (0160 V690 520 | 15¢ [0650] ve0 | 8vc |asr0|oarer | 104k | /88ie
B80S 0] BE'0 | 8.8 |vw6¥'0| OE L9g | 90r0 | #20 | 852 |8IE0) 820 | 952 | 8820 SIE0) 910 | @52 |EELO)SIO | »S'E |2rk 0| I60r | 600 1409
8521 | 0c0 | voe |esz i | 620 | Joe [860 ] 6e0 | 6o [€690] 620 | 652 (5090 2v0| 620 |95 [1ovo] ceo | 12 |Jee 0| 60eop [ 60011 | aige
¥92'2] 820 | b9'e |89l | 8E” AVE | PR 4270 | ¥ |SPOL) L20 e [ 8060 3890 SE'0 | 25T |PES O vT0 | 05T (9970 ] 60SEY | 8O0 SOHIE |
v80Z| 620 | bvz | /8h || 620 | 052 |92l b | 420 | e92 [9470] J20 | 652 (290 p050] 920 | 252 |6er0| 220 | 052 |056°0 | 6526 | 200°1Y | 966€
2650 0 | 682 [08F0] OB 652 |wAEO | #2'0 | /S'E |BOED) 120 | 6852 |2/20 S020]8L0 | 252 |SA0)GL0 | ES'E |8ELD) 86'Sr | S900°LL | GBS
BST S| BE0 | VSE |aSL L) BE0 | AbE | WOk ) 280 | 9bE |[EEOH) L0 | LkE | S680 VLOD) SE0 | ESE |ELSO) PED | E5E | 9500 | 855°ER | 90011 | EVE0E
O0re] 820 | BYE |BOLL | BE0 | 572 |S62) ) £2°0 | 05 | L6B0) L80 | ¥52 |€5L0 L85°0) 820 | 162 |99F 0 €2°0 | 95'C | 1980 | S0E Sk | #O0 L | RLLEL
LBLE) 820 | 85¢ |989°L | B2'0 | 052 | IPE'L | 420 | 052 | 1860 L80 | 852 | 058°0 rro0) G20 | 552 |PSS0) 520 | 652 |Evr O | BOSER | #0011 | L2202
Gy9'E| 820 | v |LB°L] BEO | EvE | AEVL | L20 | Sk | L6E0) LE0 | By é | B0 OL20) 820 | 9 € | HISOQPE0 | £9€ | LL8°0 | 658°GP | 200" )L | 25GT
SBOE) 620 | 6Bvd | w5} B2 PSE |wie'h § 820 | S5'@ |vO60) L0 | LSE |BBLO 6000|820 | 8BS |PESO)GE0 | 952 |SEP D | 8S9°ER | 200741 | 66702
/802|050 | ove o951t 620 | Zve |1zt | 620 | 09z [9580] 820 | 192 [5520 6650|920 | 85¢ |6250] Geo | /52 [sero|soser| Vb | isete
£18'2] 82'0 | Jv'e | 266} | BE p'2 | GES'L | 42'0 P2 |oeot) e20 | e 160 §49'0) G20 | 06 RGO P20 | 25'2 | 20P'0 | S0P SF LI Qe/2 1
8602 060 | 86 |885'1 | 620 | 662 | vz | | 620 | 95 |5980] 820 | @9 | 1620 S650] 920 | 652 | 1650] 520 | /52 |667 0| B3/ Ev | BB6 0L | G500z
906 | 8c0 | Zve [00¢] B0 | 6vg | 0094 | Zg0 | ive |gebt] ég0 | ve 0960 6890 vg0 | €56 [9950] ve0 | 05¢ |agr 0| 6ar ov | 8660k | B0SEH
8512 160 | Be2 [189°L| 060 | 662 | 282') | 620 | 252 [S060] 620 | 192 #2200 v15°0] 020 | 662 |ovc0] Ge0 | 652 2570 soger | oes 0L | ceast
BvEZ| 820 | ove |60rz| B2 0 | eve [oeor | zz0 | e [1ovi| sz0 | tve |J860] 920 | Sve |2880] 520 zo] veo [coe [1es0)ez0 | 6ve |sero| 605y | 96601 | a8zl
eI 0 | BEE [lalh] oE Er'E | 988 G20 S'a [G960) 820 | L5d |GeB0| Ba0 | 456 |0wi0) L0 SSO0) 980 | L5 |85 0SS0 | €58 |vir'D | BSE'ER | PGG0L | HLOGE
9962 | 820 | 9v (0612|820 | vpe | 1690 | 220 | e |Pb 1| Z20 | lve |8ee0] 920 | bve | 1G80] 520 270] ve0 | coe |68c0] 620 | 6ve [ebv o 6oacy | pea 0L | vooe
OS2 bE'0 | BE'Z | &88°} | 08 Or'g | S8F° 820 | &v'2 |20L'L | 820 | 152 |€26°0| 820 | £5'2 | 28’0 L2'0 40) 520 | #SE |SI90)S20 | 15T |S050 ) 806°ER | 266°01 | 68E6 |
896'2| 820 | ov¢ 2612 | 820 | vv2 [659°s | 220 | Wz |91 h| 920 | the |000h| 620 | bre | 658°0] 520 20| 720 | 552 | 1660 620 | 672 | 7o 0| 60967 | 26601 | 2v8)
ri6c]| 620 | BEE | I8l | Be 62" v0LL | 820 pe |BEE L] 20 | Epe [bAOL) 220 | vrE [GESO]) LD 08’0 820 ¥E |28 0] SE0 | 6FE [EFSO| BSE'Er | 66 0L | S9L6

ASEZ| BE0 | 9kE |AMELIBE0 | ke | EKIL ) LE0 | HeE | SOV L) 920 | ke |g2660) 9970 | ke [ VB SED LZO) WED | 552 |S8S 0] EZ0 | 6kE |00 ) 859Gk | E60L | 02011

c82'S| 820 | vb'e [6EV'E| B2'0 | EF'E | L68'L | 820 | OF'E |¥BE'L | 420 | 622 | 602k | L0 | 68'2 | vP0'L | 920 9880) 920 | €V |PGLO) G20 | Lv'E |0BG0 ) 8O0 ¥P | 88601 | SWEE

Ge62| 860 | v | 980G | Boo | 6va |Gk k | £60 | e |vwhb| 20 | Wre | bi60] 920 | 9ve | 0280 a0 00L0) wE0 | 852 |8L50]) 620 | 8P'C |62 0| 60LSP | 8686°0) | 8684

BIPE| BE0 | Ep2 (0S92 | BE0 | P2 | 2661 | B0 | OpE |25k || J2°0 | 883 |BL2L| L20 | 962 [ELLL] 820

]
™
o

060 Spe |60 G20 | Gv'E |809°0 | 850k | 966701 | €248

ESR'E| Be'0 | /v'a | 920°@ | BeE” Eva | EOSL ) /a0 | W ODLLY 820 | evd | LBE0) 9270 | 8 | 06/°0] S20 e [&/00) #20 | 062 |ESSO) EZ0 | 60 |OLr'D | 656 | 9RE0L | /L1
olre| 6c0 |ove |195¢| B2 0 |66 | 666+ | 820 | 66 |yov | /20 | 88c [vigh| a0 | eve |060+]| 920 [ eve |w60] 920 |vre |2620]Ge0 | St |9t90| 80l vk | ¥BE 0L | LOSE

SLLE ] BE Ap'E |EE6'L | BE EVE | Gib'L | £2°0 | EF (20} | 92°0 pE |498°0) 920 | 6'Z | IPL0) SE'D p'E |0E9°0) G20 | brE |PESO) 2270 | 152 |S8E'0 | 608'Ch | EBE'0L | #SE0L
G/ 6| 060 | £ve |88t e | 6o 0 | 6ee |2lbk | BeO | 66 |60V k| J20 | bve [Dee k| 220 | Ive |690+] 220 | b2 |6060] 920 | bve |P220| Ge0 | Jve |8090] 86l bv | 2860k | 6228k
JEv'E| 8 il L Be PrE | #FEL | 220 | 8 e 0| 20 | IS5 8.24°0] 920 | 05 | L49°0) 820 b2 |650) G20 | 9Fe |Av0) SE0 | 092 |0SE°0 | 6568k | 18601 | 2E£04
2082 160 | 852 |6ric| e | 0Se |eelt | BeC | 9b e |6Be || 820 | 9b ¢ |bek k| g0 | 9ve |£660] Z20 | 9ve 6980 920 | 9ve |ZpZ0) G20 | 8V 2 | 2650 | 602 pr | 86 0F | /5084
S6lz| 820 | 6P |95+ | 620 | 8yE | ik k| 20 | Jog |2080| /20 | pse [S690) 920 | ese |0090] 920 | 25 S0 Geo | J5E |80 be0 [ GSE |OEE0] 606Gk [ 6460k | GLSOF
¥992| 060 | 55 |SP0e| 620 | 552 |Geok | 620 | 6vc |Ogat| Ba0 | are k0 L] 820 | eFe |0560] 220 | 6v2 | eBO| J20 | Bve |tel 0] G20 | ¥ e |8250] 852 v | 84604 | SeBLk
EGE'L | 62 £6¢ |9LE} | 62 G2 | 200°L | 820 | 08 WoL0) Lo | 65 9090 L2 | BSE | LESD) 920 | ¥52 [ESPO) P20 G2 |ess0f k20 | vS'2 | LIE'0 | AGA'GK | £46°0L | BB20L
EES0]| LED | SB'E [BE5'0) B2'0 | O8'E | 6kFO | 920 | 948 | 99E°0) VED m.m SEEQ) @20 [ Wig |BOED) 020 | ELE | IBE0) 020 | W9E |OSEOQ) £10 | WO'E |BOED Bm.w 94601 E
™ | 21| %5 [ ™ [ 22 %4 | % [ a3 ®™ [ o] 9™ [ e[ [ ™ [21]% [® 128 [ | 1G] ®|in [wo1]| a

§26=1 gip=tL Hz=t1 op =iy 101=H) ZL=iy 05="1 og=ty




620 | B2 |B692] Bz 0 | Bre |gh6+]| Be0 | 6ve | 4ok | 220 | ¥be [2e0 k] L0 | ov 2 [¥980] 920 | ¥ |BEL0] 920 | Bre [0690] G20 | Gbe 9250 e 0 | b2 (9860 kB Gr | GG0 V]| GG60k
GE0 | k6@ |[4850| 280 | E8E |2bp' 0| BE0 | LL2 |SLEOQO | PE0 | 84 |0IE0)| 220 | G642 (€80 020 | §L2 | S0 L10 | w2 | eSO L10 | #9 2 |E0Z0] LL0 | v9E | LLLO] 65E2F | #SO°LE _.nmo.l
260 |Ove |BBEE| 6e0 |Ove |055¢| Be0 | Bee | €664 | 820 [ Bee | 1oy 1| /e 0 | Ove [JSet| Ze0 | eve 1601 9e0 |eve [ev60] 920 |eve |66/0f S0 | Sve [8L00]| bivr | €50 11 | 2058
620 | 662 |2ive| 820 | Bve |0SLt| Ba0 | Gve |peek | 220 | Bbe €260 J20 | @52 |5420] 920 | 1S¢ [v290| 920 | 6ve |8450] G20 | sbe |22v 0] 220 | 092 |0SE 0| 985k | S0 V| EE20L
| ¥E°0 | 26'C |65G°0| LE'0 | €8°F |29y’ 0)| 620 | L2 | 160 | 520 | 942 |pEE0) 220 | G/ 2 |S6C0) b0 | vSE J0J2°0) A0 | BLZ |ppE O 610 | €92 |SI20) J10 | €92 |OBLO | 60V 2 | 250711 | 67092 |
TE0 | P2 |B60EC| 060 | Ive |B96c| 620 | 862 | KOGk | B0 | 66 |20v k| Ba0 | £ e 908 L] 220 | Sve |660L| 260 | vve |¥060] 920 | GV e |eZZ0] 920 | Zve |8090| 9+ by | bSO 1k | 0828k
620 | ez 8912|620 | 6ve [0St | 620 | 6ve | »OLk | 220 | /52 |8620] L2 0 | G52 [2690] J20 | vae |6650]| 920 | 162 0150 G20 | 4Gz |oev0f 2z0 | 952 |1ee0| k5Gh | kGO FE | LEGOE
pE0 | 6 | 1650 1E0 | ¥BE [eBY 0| 620 | B2 |B0v0 | G20 | 9/ |BEE 0| E20 | G/ |B0E0| 220 | b/E |EBCO| 0z 0 | EZ€ 9620 020 | €9¢ |Zec0| Zb0 | €92 |68L0|6aver | GO bl | Zesse
260 | 09 |45/ +e0 | 95¢ [6big] 080 | 15E | 104k | 820 | sve |9se k| 680 | Zve |6FhE| 820 | ve 9860 20 | sve [vos0 g0 | 2ve [wrio] Se0 [ 6ve |eeso] tevk |6v0ti] Bsost
1E0 | Zve |6esL| 6¢0 |¥5e (208 | 620 | eGe [8660 | 820 | 19 [6690] 220 | 652 [9090| 420 | 852 | 1650 920 | e5e [65v 0| ve0 | 65¢ |e8e 0| 1z 0 | vse [21e0] 965k | 60t | 6820k
860 | 962 |9090] 160 | S8 9050 620 | 6/2 | 6ev0 | 920 | 92¢ |ese 0] 620 | G/ 2 |€ee 0] 220 | vie | /620|020 | /2 |6920] 020 | €92 |0v2O| 210 | »92 |86k 0| 605 2v | 870 14 | G0952
cb'D | 65¢ |ApOE| 080 | SSE [vEO'S | G20 | PSS | A9 ) G20 | 0S@ |Ela' L | 820 | 6Gp 2 | GO0 | 820 | 6v'c |OPG'0| L20 | 6vE |GEBO) L0 | BFE |GLL0) S0 | 052 |8.60) Sy | L0 1L | SEGLL
860 | 650 |65 k| @60 | S5¢ |SOrL| 06O | B9 | 2680 | 820 | /9¢ |2+90| Ba0 | b9a |5650] Ba0 | 656 |vZv 0| 920 | 95¢ |0W 0| ¥20 | 95¢ |0960] 00 | 652 |v6a 0| L0OY | /50 1b | 79008
€60 | 662 |two0] teo | S8 [ves 0| 620 | 622 [9Svo | se0 [ 6o (160 veo [ ¥iz [ove0] 220 | el |eke0] 120 | 2se |¥820] 020 | €92 |e520f £10 | €92 otz 0| 6552w | 9v0'IL | €8ese
260 | 8G2 | 9652 | 060 | 85¢ |000¢| 620 | 26z | koG k| 620 | 152 |91 F| 820 | 052 |S80 L] 820 | 05e |6k60) /20 | 152 |pOB O] J20 | 6ve | H0Z0] G20 | 052 |89G 0| beby | GrO k| 7hoitk
VED | 95¢ |B6e L] €60 | 692 |Be60| 260 | b9e |Ovi0 | 060 | v5a |¥550] 620 | @G | B8y O] Za0 | IS¢ [96v 0| G20 | 65 [¥BE 0] ¢20 | €5¢ |OpE O] 6LO | 152 |Zze0) 909y |GrO I1] S¥8G
20 | 962 |6,90| 160 | 98¢ |p950| 620 | 0BE | €8P0 | /20 | G/ |0BE 0| G20 | ¥Z 2 [8980| 620 | 62 |0BE0| 120 | g/8 |0OEO0| 080 | 0ZE |B9Z0| 610 | €92 |EE2 0] 608 ev | br0 )| LOMSE
IED | 652 |985 2| 060 | 06e |be6 || 620 | 052 | 885 | | 620 | 162 | ¥OL 1| 620 | 052 |60 L] 820 | 0 |EC60] J20 | 12 |0620] J20 | 062 | 2690|620 | 052 9560 e b | €v0 11 | @6ELl
LE'D | BY G60°L | 580 | 8L | 508 £E° 692 | 8F9°0 | k80 | 65T (9060 820 | bS5 |2SP0| 920 | G2 |EOFQ| PEO | 252 (VOE'O| b0 | V52 |25 0 610 | 6FE €920 L9y | Er0 £295
260 | 962 | 9220 060 | 96%¢ [ 1090 620 | 082 | 2450 | 220 | ¥Z2 |Ziv 0] 920 | €22 |0860] 620 | 2Z¢ | 0560 220 | 0/2 |6L6 0] 020 | 692 |9820| 610 | 292 |8620| 659 2r | ev0 |1 | 6e6vE
IED | BSe |Ro9z| 0rD | Jvz [RO0Z| Bed | /v2 | 009k | he0 | abe |0/L 1] Be0 | 6v2 [el0L| B2 | 6ve [v68 0| /20 | 152 [6/20] /20 | 052 |9/90] Ge0 | 052 [9vs 0| twby | Lw0 11| 0/ZbiL
BED | I8¢ |£260)| 980 | 66 [VvELO| WE'D | 69 |G6SOJOE0 | IS@ | viv O BE0 | €58 |gav 0] 9270 | BS'c | IBED| €20 | @5¢ |VWED)| Q20 | 6 |SOEO)BLO | 6¥E [Gka 0] SLOF | VO LE LOVE
Ve'0 [ Z6C |SZL0| 060 | 58 [Pro0| 620 | 64C | 1550 | £20 | 722 |Lb¥ O] 920 | 222 |wOPO| b2 0 | IZc | 1ZE0]| G20 | 69 |BEEO| 020 | B9C [€0E 0| 610 | 292 |e5e 0| 602 ek | PO FL | Zbive
2ED | Bye |0596| b0 | eve | w0 6e0 | eve |£e9k | 80 | vve |2Bh +| BeO | Lve |phOL| 820 | Bre | 2880 60 | 6ve |020) Zg0 | 052 |5990] G20 | 6ve |ZES0| Svby | 680 1k | BY69E
680 | 682 [vGB0] 960 | el |6890| vE'0 | 992 | 950 | Ge0 | v5e |akr 0| L2 0 | 952 [9660] e 0 | vae [ 1ee 0] e20 | g5 |92e0] 020 | 15 [8620f 640 | s¥e [vee0| teor |ee0 it | 6216
LE'D | BEE |GEBD| OE'0D | SBE |SE90) 620 | 082 | 6850 | 920 | v (0B O 920 | L2 |[vEPO| G20 | 0L |WEED| 220 | 692 [6SEO) 120 | £92 |22 0 020 | 092 |692'0 | 65L°2r | BEO L1 | S6vve
BE0 | GPe |669E| LEO | BEE | LA0C| DEO | 962 |ev9'k | B0 | bva |PBLE| BEO | G¥ e |gh0t] 820 | v |e/80| /20 | BrE |2540] /20 | 052 |0590) 920 [ 6vE |veS 0| bspv | ZEC bh | 9es9t
LC0 | 162 |ees0] 0c0 | e8e |vor0]| B2 | 622 |Svo0 | se0 [ ede [8150] 020 | 022 [69v0] Ge0 | 69 [vero| €20 | J92 |eoc0] +20 | Soe |eveof 60 | 192 |/820| 608 er | 9E0 11 | eseve
OF'D | e8¢ |veBO| 60 | BZE |Ww90| vEO | 292 |BESO | 620 | 95¢ | bav 0| 220 | /& |B260| ba0 | SGe |Sve 0| t20 | €52 |HIE0]| 020 | €52 |p220] 8H0 | 152 |bea0| Bzor | 9RO 11| /S6R
260 | Gve |64/) 160 | gve |820¢| be0 | /8E | €197k | 660 [ 86 [691 1| 620 | ¥¥c |0660] 620 | B¥c | 0980|820 | 8vE |/640] J20 |05 |6290) 920 | 8vE |6050| 99wr | 960 1h | ¥OSTE
080 | 6/2 |G60'L] 620 | G/ 2 6280 B20 | 2/2 | 4240 | 220 | 692 |0/S0| 920 | 692 [¥IG0] G20 | v92 [Gop 0] 620 | vo2 |€ib0] 220 | €92 |89 0| 020 | 652 |80 0| 658 2p | PEC 1L | LGOVE
W0 | /82 |v/i0] 560 | 64¢ |ZL00| BED | 492 | 4150 | 620 | 65¢ | 10v 0] /20 | 852 |G9£0| 20 | 96¢ |2eee0] 120 | ¥52 |8620] 610 2 |ese0| 610 [G5e |olen| teor |veo 1i] Ges8
OG0 | 66 |vB6a| 680 | are |91 ¢ 620 | ove |avoh | 820 | Obc |29t k| B2 0 | Gva [0.60] 620 | 6¥e |6280) 830 | 0¥ e |vhe0] Z20 | 158 |2090) 920 | 6¥ 2 |a6v 0| 609 bk | €60 FF | 2829t
620 | 892 |Gee || 620 | 59¢ 9601 | B20 | voe | IvBO| 720 | 29¢ |¥yw9 0] 920 | 192 |€50] 520 | 09 |6150) G20 | 852 |95v 0] €20 | 09¢ |S6e O 120 | /52 | 066 0| 606 2v | ee0 |1 | 6esee
W0 | /872 |0620] Z60 | I8¢ 9660 660 | 692 | b050 | 620 | 092 |06E 0] 920 | 652 |¥se 0] £20 | L2 [tec0| b20 | 952 |8820] 640 | 462 |2520| 940 | 85 1020 9eor |ecu bk | £458
620 | b2 |986Z| 820 | 252 |26l 2| B2 0 | €52 | 619') | 820 | 8b'Z |6et k| 820 | ¥ 2 |v960] 820 | vz [o1e0| 820 | 6v'2 [2690] 220 | 152 |2850] G20 | 8v'2 |vsr0| 6590k | L0V | 09081
620 | B9¢ |6/9+] Be0 | Sae |+Be+| 220 |55 | WOk | 220 [ S5¢ |6kZ 0] 920 | G52 [¥590] 920 | 95¢ [9450] 520 | v5e [8050] €20 | ¥Se |oev O b0 | 95¢ |vee 0| 6a62r | £0 bk | Z09te
w0 | 8872 |0620| 9610 | I8¢ |eB50| BEO | 042 | BBVD | 820 | 192 | 1BE 0| 920 | 652 |GVEO| @20 | /Ge [Ele 0] 120 | /52 |6/20] 6+0 | 652 |ebz 0| 910 | 652 |ver0| twov | €0 HE | Leas
620 | pv'E |BI6T 20 | @5¢ |B60g)| L20 | 652 |84 ) 420 | 952 |OLLL) L20 | 252 |BPE0) L20 | 9v'E | 20B°0) 20 )52 | 1490) 420 | G2 |8950) G20 | 8¥'E |SSP0 | 60L ¥ | 620 ae8s |
820 | 65¢ |0/00| 820 | Bve |59+ | £60 | Zve | bee b | 980 | ivg |8480] 920 | 6¥ & |¥540] 920 | 0ae |v590) 580 | g5¢ |8950] vg0 | 6ve |tev 0| ez 0 | S5¢€ |8L60| 600 v | 820 |1 | Se6ee
6C0 | 062 |E+20] 960 | e8¢ |1250| EE0 | 1LE | 22v0 | 820 | @5¢ |v/e 0] e 0 | 092 |6ec0] 220 | 85e [90c0]| 020 | 852 |e220] 6+0 | 052 |9620| 6+ 0 | 09 |68L0| oror |820 1L | 6908
620 | vve |/962| Be0 | ®ae |vR0Z| /20 | 652 | Bosk | /20 | 85e |9m0 L] /a0 | /o2 [6L60] /20 | 1ae [ER/ 0] 820 | ove |[8590] /20 | 252 |svanfcz0 | 162 |eev 0| 66/ bY | /20 1L | GLoct
820 | 65¢ |602E| 820 | 8y |ve9't | Je0 | ovE |geet | ogo | avE /960 9z0 | sve |Jeso] 90 [ vz [erzof szo | 192 [otoo] veo [erz eeso]ceo [ ssz |ooro]ssoer [9z0 11| egiez
BED | c6¢ |6690] 560 | e8¢ 6050 g6 0 | FZe | Ozv0 | 820 | 25¢ |60e 0] 520 | 092 [€ee0] 220 | 85 [0060]| 020 | 652 |9920] 6+0 | 952 |0ez0| 640 | 09 |ver 0| boor |920bh | ZveL
620 | Eve |vv6e| 820 | 85¢ |650¢| J20 | 652 | €65k | 220 | 85¢ |G60 4| 920 | 092 [¥880] 220 | vGe | 2520 820 | 8v2 |Ge90] /20 | 162 |2a5 0| Ge 0 | 952 | Z07 0| 608°b | G20 V) | v6ESH
20 | 85 |Svee] 8e 05 L i g | 848 920 | ¥ GO0 | 920 | oF B0 520 e [¥SL0) SE0 PE (990 Fe0 | Gk E |6PSOJ EE0 | 05 |SEr0 | GOLVER | PE0 L | HPGES
860 | P6¢ 8890 G610 | €8¢ (9550 260 | FZ2 | povC | B2 0 | €9c |¥9E 0| be0 | 192 |Bee 0] 2e0 | BS¢ |60 020 | 692 [1920] 610 | 95¢ |Se2 0] 910 | 652 |64k 0| 859r | pe0 t+ | Ge9s
620 | vve |99eg| 820 | ©5E [e661| /g0 [ 652 [8/pL | 20 | 652 [oo0L| 920 | 19z |ses0] se0 [ IS (10820 | 6ve [e650) /20 | 052 [esvo]ceo [ /52 |esen] esewr [ €20 1L ] 2161
620 | /52 |5522| 820 | 152 | ki 1| /20 | BY2 |G6E'L | 92°0 | 9¥'Z | 620k | 920 | ob'2 |568°0] 520 | 8v'z [9J70) 520 | 8v'2 [0290] v20 | 052 |2850] 220 [ eb'Z |ovr'0| 6516w | 220741 | 6LiE2
JED | GRE |BI90] vE £82 |055°0]) 88 LA2 | GSk0 ] L2 | £9 08e" Pa0 | 192 |E280| g2°0 | BG'E |06Z0) 020 G2 |9520) AL 0 | G52 |0220) 910 | 852 [SAL0] 199k | 120’ Ll | 2OrS
620 | Gy |9692]| B20 | ¥Sc |BaBv]| 260 | 6sc |Bre b ]| 260 | 09E |/060| z60 | @58 |0/£0| Be0 | 052 |Sv90| 720 | 6ve [6vs0] 220 | B5¢ |esvO| va0 | B5C | 2960 | 606 wY | L20 (1L ]| OSbrL
L 3 | % | oL | a9 | ™ | 21| o4 % | oL | %3 | % | "L | 4 | ® | 2L | 4| ® | o0 ] %4 | ™| o] ca] o] Al ® | va|nNo1] a
SivE=tL §26="1 gip=bL bzt op )=ty 101=H) ZL=iL 05="1 0g=ty

504 —



GE0 | 86¢ (9890 980 | 18C [EG5°0) EEQ | OLE | O9% 0 | 820 G20 | 85c |vee' 0| gg0 | 45T |60 020 | BSE (BG20) 60 | S5 |ccc O 910 | 65 |LLH0 | 295°9F | 960 L1 | 9594
[ 620 | eve |ev6e| 820 | S | 6902 J20 | 65C | £eah | 220 920 | g9¢2 | 1880 920 | ¥S2 |SSL0| 820 | 062 |SE90) L0 | o ¢ |1ESO) G20 | 95°¢ [€0F'0 | FE8'FP | S60°LL | G6ES
0 [95¢ |spee| BeO | 0S5e |SELL) JE LVE | 6LE°L | 920 920 | Oy e |g/80) S0 | Bré |95/ 0] S20 | 6vE | /90| ved | 6F 0S50 E€0 | 05 |Ber'D )| B0EY |S60 1L | rOLES
0 | ¥62 |2450]| 560 | 26 [evc 0| EEO | 022 | Iob 0] 620 V20 | 652 |BIED| 20 | /G2 5820 020 | 85¢ | 1520 610 | bae |5HeO| GFO | 85 € |22k 0| 290 | w60 +E | bovZ
| 620 | ¥p'e |9S8'E| B0 | ¥5T | /86 L2 652 | vibL ) 220 920 ) €92 |1e8'0) /270 | 85C | 6040 820 v'g [2650) Z20 | 052 [I6F0) G20 | JS5C |€BE'0) 198pW | €60 1L | BZIG)
620 | /52 |G90¢| 820 | 162 |zl V| /20 | 8ve |S66k | 920 520 | 9v2 |G680] 920 | 8¢ | 2220|920 | 8ve 1790 v20 | 052 |6950) 220 | 8vE | ZvrO| bher | 660 1) | evbee
BE'0 | ¥6'2 |659°0) G800 | 182 |PESO| 2€°0 | 692 | E¥PO | 220 £20 | 862 |2ke0| b20 | /G2 | 6420 020 | 862 |SvE 0| 6L°0 | ¥4 2 |6020] GLO | JS2 [99L'0 | 2999k | 260°1L | 2610
G0 | Sv'e |209¢)| B0 | ¥Se (D08} | fe0 | 65E | SEE'L | £20 JE0 | #5¢ |5940] 820 | ISE |ep00) 420 | Gve [ISS0) LD | ESE | ISP O Se0 | 85 |SOED| Liewy | 160 LL | LSEFLE
620 | /92 |Z9cc| 820 |gae |+l t| Ze0 | eve |Govk | 9g0 960 | ove [e060| 9e0 | 6vE [esi0|Sz0 | /v'e [veg0] 560 | o9e |6250]€e0 | vE |esvo| 9vEr | 160711 | 0BlEE
A8'0 | #6'2 | 4P9°0) SED 82 [SES0] 28 69 | GEPO | £2°0 E2'0 | 852 |S02°0| 120 | [G'2 | 2420 ‘0| M2 |BEEO| BLO | PO QZ0)GIO0 | G2 JIOLO) LiLop | 60 L)L | 0569
620 | 252 |B/0¢| 620 | BSe |12t | B0 | 652 |SLEE | 820 620 | 152 | 1290] 620 | 16 | 1850|820 | 952 |8k 0] Z20 | 652 |SIPO) €20 | 852 | ZvE 0| 196 r | 68O V1 | 6a2pt
G0 [ B5¢ |£52¢C) 820 | @5¢ |€SL )] L2 e | E0k'L | 920 920 | Liv 806'0) 920 [ 6v'e | ¥GL0 20 | Bvc [c6R0) SE0 | 152 |4B50) €20 | LpE |89 0] LSEY | GBO' LI | a6k
J60 | 662 |vE90| GE0 | 08E |Gk50| 260 | BIE |9er0 | 920 E20 | /S2 |60 20 | JG¢ |9920| 6L0 | 2Ge |2620] 9L 0 | b5e |96L0| GHO | 952 |95k 0| 19/ 9v 8RO LL| BE/9
260 | 852 |69+ 0EO | 29¢ |Fhet| 620 | g9 |See0 | 080 050 | €52 [2090]| 620 | vG¢ [v250| 820 | 652 |69k 0] 720 | 192 |e6e0fez0 | 852 |2ee0 | LhoSr | /B0°1L | Z0SVE
620 | 852 | 9522 | 820 | 252 |25+ | 820 | 052 |eob k| 920 920 | sp'2 |0160| 920 | 052 [96.0]| 520 | ev'Z [e690] 620 | 152 | 1650 ¥20 | 8v'2 |eiv'0| 9g'er | 801} | 9i2e2
/60 | @62 |1e90| pED | B2 |5050] 160 | 792 |80 ] 920 220 | /52 | 1620 g0 | /G |BSe0| 6L0 | ISe |vee0] 910 | €G¢ |FGLO| GO | G5& |OSFO| kI8 OF [9B01E| 9168
EED | B9Z |BIv'L| ZE0 | E9'Z | ¥BO Le 85E | 2480 | LEQ 0E'D 52 |S550]| 620 | D9 |SBFO| 820 | 652 [0EFO| 920 | 09 W8E0) 220 | IS [EZE0 ] 190Gk | B0 SBEr
[ 620 | 85e |ecee| 8e0 |ece |oos 1| B20 | 052 | Job k| 220 | [ 920 | 8ve [€160| 920 | 0S¢ |6620] 920 | Bve |8690) 620 | 152 |€650] b2 0 | 8be |6v 0] 1EEr | SB0 1| #5022
€0 | 062 | L0890 vE0 | 9LT |EB6F b 992 | 900 | 520 ge'0 3 820|020 | 95'2 |0GE'0) 640 | 05'2 [SIE0) 540 | €58 |80 SI0 | #S'C [PFHO )] 9897 | #BO recg
©0 | 692 |v8E k| 260 | /5E [/401| 260 | 852 |EvB O] LED 0E0 | 952 |6v50| 620 | 652 |64p0| 820 | 852 |9er0| 920 | 652 |8260) 220 | 952 | 126 0| LIk Gy | £80°1) | 690V}
| 620 | 852 | 1922 BZ'0 | 292 | /G| | B 62 | G0FL ) /20 820 v 2 |RELE0]| 8920 | 052 |BE/ 0] 820 | Br'e [BEB0D) S2'0 | 162 |RES Q) #20 | B2 |8/¢0 ]| SE'EF |EB0°LL | 2EBIZ
LED | BBE |E6S0)| PEQ | ELS [ 1BKO) LED | PEE | 9BEC | SE0 20 | 95E |vi20) 020 | V58 | W20 640 | 6VE |BOZOJ 90D | &@5€ [BLLOYSLO | wS'E [BELO| LIS 9K | EBO°LL | 2403
26’0 | 95T |4BP'h) 1E'0 | BSE [ChVL) 160 | 95T | 9480 ] 620 680 | 952 |S950) 620 | 62 | 1050 880 | 96 |SEPO) 880 | 852 |¥BE 0220 | vSC [PEE 0| I9L Gk | 1BO LI | IVBEL
620 | [52 |b9gc| B20 | 252 |BGL L] B0 | 62 | 60P'L | £20 LE0 | By2 |6060) 9270 | 062 |v6L0) 920 | 6% |B690) G20 | 252 |6850) 20 | 60 [ELr0 | IPEY | 1BOLL | GLOLE
LED | vBE |0BSO| PEO | OLE [GESFO| OE'0 | 19E | SBE'Q | #E0 l20 | #SE [S9¢0) 020 | @S |cE2 0] L0 | 06 |GELO| SL0 | 152 |OLLO) SO | €52 |[SEL0 )] F96°9F | 620711 | 0G8S
LE'D [ Brd |Q2LL)] 00 | 55°€ ve |l 4 52 | w9E0 | 620 620 | 652 |465°0| 820 | vS'c |9ESD| 820 | S5'2 |09 0| 920 | 952 |68 0] 220 | b5 |[wEE'D| HIE'Gk | 62011 | GLOEL
620 | /52 |voEE| 820 | 1SE (6901 A e LZ0 | ive |8060] 920 | 057 [ 16/0| 920 | 6ve |8890| G20 |52 |ves0f vz 0 | 052 |69v0| ovev |60 11 | 88Elg
620 | G¥'2 |ObO'E 20 | 0652 |SSk L] B2 052 | 10L'L | 82'0 B2'0 | 65 £89'0 20 | ¥S 8sS'0] J2'0 | 69" 36F'0) 62'0 | €5 ger0) 220 | 052 |pE0) 1928k | /0L | SBEEL
Z60 | 182 | Z950] e 0 | 99 |/5¥ 0| 060 | 652 | 2260 | ¥20 120 | €52 |5520] 610 | S¥e |6220]| Zb0 | 6ve |16L0| 940 | 15C |69F0| GHO | 652 |SekO| FHO /¥ [ 270 +h | B29S
620 | 952 |B3cc| 620 | tae | bl t|Be 0 | Zve | GOV k| Zg0 480 | ove [s680| 9e0 | 6vE [6720| 980 | 09 [5/90] 560 | €52 |vss0]veo | eSe |esvo| kaer | 770711 | 99tie
620 | Ib2 | 1967|820 | BPZ |pi0'1| B20 | GP2 |12t ] 220 {20652 | 1b/0| 20 | 652 [6v90| /20 | 062 [9650] 920 | 052 |osk 0| €20 | »52 |85E0| Liech | G40 11 | GLbEL
620 | /52 | 1812 B20 | 25¢ |e891| B20 | 052 | 886k | 20 /20 | 252 |1680] 920 | 65 | 9920 920 | 662 |9v90] G20 | 952 |9560) G20 | 652 |9vr 0| 95ep | S0 1L | v60z
0C0 | &v LOE) 620 | BSE |4RSTL | BE S5E |Eha 820 L80 | L5 |06£40) 460 | 95 |2040) 920 | 65 190 920 | 458 |9850)S80 | LS5 |EEF D) I9EY | E40° 28L08 |
620 | 86¢ |BIOE| 820 | JvE |VGB | BEO | EVE |JLP L] J20 | | /20 | 6ve [J280| 920 | 06¢ |21/0] 920 | 1G2 [€090]| 920 | 8pe | 105 0] be0 | 852 |06 0] 19ECh | €40 11 | £G62t
08D | 6E8'2 | 802 | 620 | 8’2 |vPS'L | 62" 052 | €8 82'0 g2'0 | 0% 5.0 | 820 | 08'2 | 248'0) L2'0 92 |650) 520 | 852 |9850) 520 | 5T JEEr0) 996 | A0 0050e
620 | Bbc |6642| 820 | Jve | 186t | B2 0 | 6ve [Ges k| 220 920 | £v2 |6060) 920 | 8v¢ |95/0] 920 | 052 |0590| 520 | 62 |6850) p20 | 152 |6660 | i Gy | LZ0 V1| L1822l
LE'0 | Ove |20 OE'0 | BE'E | 695"} | B OrE | IEE'L | 620 820 | 292 |grL0) B0 | 19¢ |S990) /20 | €8¢ |685°0) 920 | 65 |SeS 0] S0 | S92 [vEPOD| LLEY | 690°LL | 8/208
620 | BE'Z |WEB'Z| 820 | Lv'@ |090°E| Be'D | EVE | 2654 | £8°0 L20 | W2 8560 920 | LhE |VOBO) S2'0 | 052 |SBID| G20 | @52 |ESSO) k20 | 62 [6LF0 )] 19FSk | 890°11 | 60Gct
FE'D | MPE |A0LE] 00 | BEE |WBSTL ] DET0 | 682 | €S2l | 6270 BZO | €92 |1540) 820 | 192 | vL970) 20 | €92 [9650) 920 | 092 |2e50) G20 | 452 | Ivp 0| GL6Y | L0901 | 9S00C |
620 | 682 |vr6c| 60 | ov@ |80VE| B0 | 8vg | 094 | £8'0 L80 | W@ |2860) 920 | Sv'e |EEB0) SE0 | 62 |L0L0) vE0 | ¥#5E |6£50) 880 | 6Fc [wEFO| bISSR | L9074 | LBEE S
L0 | Mg |0JLE) LED | BEE |Eb8'L) 080 | 6EE | J62') | 620 g20 | 192 | 18£°0) 820 | 662 |20L0) 20 | 192 | 1290) 620 | 652 |OGG O G20 | 952 LGP0 LBEY | SO0'LL | PERE
Gl | Ove |vARa| Ba0 | Ov'e [SEL@ ] Re” vrE | BFOL ) 450 Jal | tvad |/660) 950 | vee |GPRO) S20 ve [0/ 0) a0 | 562 |RAS O EE N | 6Fa |2rr 0| 195°GF | SO0 1L | G802 1
ce0 [ ove |geee| veo [ seT [ses | oeo [GvE [ e [ 680 820 | 452 | 80| 620 | /¢ [0920]| 220 [ 992 |99 0] 220 | 49 |6450) G20 | €9z |asvo| 9pEr |£90°11 [@ioE
620 | Ov'E | L86'E| 82 Or'Z |0EL'E | BE" PrE | 1681 | £2°0 L20 | LpZ | 66680 9270 | vP'E | 2S8'0 ) SE'O PE [22L0) P20 | SGC |OBS O €20 | 8p'E |[ppP O] LISCP | €80 £pell
2ED | 2ve |Be5e| 16D | 6be 2061 | 060 | Ove | 6OSE | 620 B20 | 162 | /660 B2 0 | 2Ge [9280] 220 | 162 |Z220] 220 2 |9290] G20 | 152 |E1G0| 15Er | bo0 1) | 06EGH
G20 | BE'E |SS6E'E | B Gr'e |Skie| Be e | WOk | L2 LE0 | LEE0)| 9270 | ve |EVPBO| SE0 | BFE (910 vED | ¥SE |9BSOQ EC0 | 8FE |ObF 0| 9951 | 100 LEgk b
%60 | 6be |VSbc| 60 | 86c |Fhee| 620 | 66 |Bel k| 820 820 | V2 |9801| 220 | vve |8560] 220 | vve 0280 920 | Jve |2690) 520 | 6vE | 1550 | 96EY | 650 +4 | 89k6}
620 |BE¢ |0e6E| B2 | J¥E |280¢| BEO | Eve |2tgk | 220 20| tve |0/60] 920 | o7 [0280| G20 | 8vz |los0| v20 | 852 |pss0fez0 | sv2 Jasr 0| L4Gr | 650711 | G6ELE
360 | eve |vBee| 620 | vbe |Jobe| Be vz |2t6k | 820 /20 | 862 |6leL| Jeo | BEe | /S0 1| 620 | bbe [9680) 620 | 6k 2 |29i 0] 520 | /ve |9850] tovy | Z50 V4| avest
620 | BE ovB'E A e |8L0'e | Be p'2 | 8651 | 420 pr 6e60] 9270 [ 92 [ARL0) G20 | 6FE |E/90) P20 | 062 |PSGO)EE0 | Bk b0 946Gk | /SO LL | LALLE
gE'D | OWE |GLWE| BED | WE |895°E| BED | LWE | 9661 | BEO m.n_ BE'E | 9270 hlm._c LE'E |60LL) 920 | EVE |SE60) 920 | SKE |E6L0]) 520 | 8kE |OL90D] S0br | S50 1L | PELBL
I.ol._. 5 e .o._.lh T .ow on T .om .u._.lh = .ow 5 L I o .u._.l o B .um 5 L™ 1v1 | No1 In=|
SipE=tL §26=1 gip=tL Hz=t1 op =iy 101=H) ZL=iy 05="1 og=ty

— 505 —



260 | Ov3 |Eeee] 1o 0 | Ove |25l t | 060 | ove | Bvek | 620 | 652 | 1860 o0 | 952 [6580] 820 | 962 [#920] 820 | 662 [£/90] £20 | 462 [6850] G20 | 652 687 0] k98 6 | GEL VL | ELOGE
520 | 6e¢ |056¢2| 820 | 9ve |01 2| B2 0 | #ve | 2690 | 220 | \WWE |€9L 1| 20 | P2 | 6860 920 | bve |0vB 0| 520 | ve |G120] veD | €5¢ |9850) €20 | 8¥ 2 |ovr O 299°Gh | 281711 | 2291
Ze0 | tve [195¢| te0 |Ove [Je61 | 060 |6Ee |6Gesh | 620 [ eve |Oph+|Be0 | 0Se [/560] Be0 | tae [svB 0| 2e0 | vae |evi0] J20 |eSe |0vo0fSe0 | 1€ |eesO| rr6ev | tEL 11 | LBEGE
620 | 962 |0K62| 620 | Jve 5202|820 | eve | GO0k | 220 | Ibe |6eb | 220 | tb2 [J960] 920 | O |0180| 520 | v |0020] 20 | 252 |v2s0| €20 | Zve [06r0|arliGr | €v bk | GOpLL
28’0 | Op'Z |POOE )| 620 | BE'C [6GreE| 620 | 68°C | S50 ) 820 | 6E'C | 882} | BE0 | €v@ |SOL'L) J20 | ¥v'E |BOS0) 20 | eve [2vB0) Z20 | 4¥E [SOLO0)GEO0 | 6v'E |09S0) 196ew [ 621 11 | 6ILEL
620 | B6¢ |6cBE| 820 | /ve |000¢| BEO | 6ve |6va k| 20 | WG | 160 k| 420 | e |5660] 920 | 9ve [9840| 520 | 8ve [1/30]| v20 | 6V & |5950] 660 | /vE |Ghr 0| cIL 'SP | 68b bh | BLEbE
Zc0 | ev2 |B0cE| 820 | vve |Jsve| Bz | eve | 0e6k | 820 | \be |s0v | J20 | 2 [tee | J20 | 6Ee |6004 | 220 | vve |J060]| 920 |Eve |2£Z0] 020 | Jve |e650 | hO b [J2L b1 | Zv6EL
620 | Bz |699¢| B0 | Bye |ve8t| Bz 0 | bve | vovk | 220 | b |vi0+| J20 | ove [B580] 90 | bre |vELO| 920 | bve |/200] G20 | G |9es0f ez | 16 E |Z8E0 | cie gy |9zh bh | 95601
260 | Ove |beve| 620 | e [599¢|Be0 | Ove |200E [ 620 | ObE [09vh| 20 [ 86 [b8e | Ze0 | 66 |90+ | 920 |eve |ev60] 90 | Sk |8640) 9z 0 | sve [Zke0| 90wk |Sai s | Ses8l
620 | Obc |eeve| 820 | Bve |6eit|BeO |sve |6Leh | 220 | 6pc |Z160] 220 | 252 |0420] Z20 | 25¢ [0490) 920 | 6ve |9450] G20 | 8ve |2Zv0] ee0 | 09¢ |bse0|cogsr | el 1h | resob
260 | P2 |09EE| 620 | 6EE |OvSe| 620 | Je2 | 166k | 820 | 86 @ |JGv k| B20 | Lka |0Ge L] 220 | ave V60 L| J20 | eve |/v60] 920 | by |p6.0] 920 | Ske |2ea0| bhhvr | £2b th | £0S8E
080 | #b'E |BELE| G20 | 0SE [BIS' L] G20 | 6FE | ISHE] £2'0 | JS@ |€640) 480 | 958 | 4890 /20 | §S¢ | 650 820 | 09 |GISO) SE'0 | 6852 |lev O] S0 | /52 |SEE O EbG Sk | 2ch LI | S1S04
S60 | @64 |0/50]| 260 | €8¢ |2Zv0| 060 | /22 | 8660 | 920 | ¥Zc |6a6 0] 620 | ¥23 |W0£0] b0 | 622 |5Ze0) Zb0 | 8/2 |8vE0] 640 | 292 |6k20) 210 | 692 |68L 0| 9ear |zak bt | alede
£0 | Ov2 |690E| 1e0 [ 6EE |SSEE| 620 | BEE | 488k | 820 | JvE |bSet | 820 | 9@ |Gik | 820 | bve [GE0L| JEO | vvE [€060) JE0 | Sve |esz20] 920 | v [Hia0| Ok vl | k2L FE ] FBEEE
0 | 6F2 |G6LL| 060 | ¥Se |ZBet| 160 | 6hE | #6610 | 820 | 292 | 9650 820 | 092 |5090| 220 | 85e |ees0| 920 | 152 |por 0| ve0 | 092 |pec0) k20 | 652 |ELe 0| 296Gk | 2k bh | 06204
VED | ¥62 |6850) a6 0 | vBe |Lor0| 060 | /2 | Siv0 | 920 | G/¢ |ave 0| a0 | ¥i2 |€160] 220 | 6Z¢ | /820|020 | 222 |0920] 020 | c9¢ |0620) 210 | 692 |16k 0] iver | &b bk | 0509
28D | t9g |eelc| 10 | 95 |S60¢| DEO | @9 |S89k | 620 | 8v@ | 692 k| Ba0 | Lva |Skht| Be0 | ive |vB6D| /20 | /ve |£980) Zg0 | Jve |Svz0]| 920 | 6vg |v6S0| bhevr | 6L I | 63084 |
[ €60 | #Ce [805 | 260 | 652 |pOL L] 160 | B892 |EeBC | 820 | Joe |6100]| 820 | 192 |J6s0| 820 | ¥Ge |9Jp0) 920 | 952 |EMbO| ved | JGe |2960] 020 | €52 |S62 0] 2to ok | BEL 1| 8900
YE'D | 562 |6h9°0] FE'O | ¥E'E [BLE g 842 | GEV'O | £2'0 | G4 [6SE0)| vE'0 | pLE [622°0] 220 | BL2 (080 k20D | L2 |WLE0) 020 | 292 |PPEO0) LL0 | €9 | MOS0 | SFeET 1% g4e85¢
260 | 652 |Se92| 060 | 952 |920¢| 060 | 652 |29k | 620 | 05¢ |02 +| B20 | 6v2 |J90L| 820 | 6ve | /¥60| /20 | 6ve |0680] J20 | Bve | FeZ0| 920 | 052 |08G0| k92 vk | ZbL 11| /68l
SED | /G2 |96z L] veD |0/ [1e60] 260 | vo2 | Gv/0 | 00 | G52 |695 0] 620 | 052 [/6v0] /20 | 1ae [0vp0]| G20 | 562 |98e0] 220 | ¥S2 |eve0f0z0 | 152 |6/20| 2900 [ari 11| oves
EED | G6c |8590)| 60 | S8 [EWSO)| 620 | BAE | w0 ) 260 [ b |9LE0) SE0 | W22 |SPED| B20 | BLG |LED) 180 | &2 |BEBEOD| 6L0 | OLE |ZS520)0 A0 [ €92 |wia D) IS8k | 9L 1L | 80958
[2e'0 [ 852 [wesc| 0c0 [¥ac |666+| 0E0 | a2 |e6a ) | 620 | 152 |84k 1| B20 | 0S¢ |80t | 820 | 05 [ce6 0| 220 | 15E [£080] 220 | 6vC |€0Z0] 920 | 052 [8950| rie vk [ShL 11| GI9Z
BED | 692 |hhb| 960 |vie [1hB0| 660 | 69 | 4690 | k80 | G5¢ | P15 0] e O | 6v¢ |67 0] Z20 | 66 |BOPO| v20 | 652 |96 0] b2 0 | 15 ¢ |56e 0| 640 | 6v€ G920 | kb o | vhb 11| v296
860 | 96¢ 8890 LE0 | S8 |2250]| 620 | 622 | Wov'0 | 220 | 22 |S6E 0| 920 | €22 [€960] 820 | el [vee 0] ez0 | 122 |v0e0] 020 | 022 2220|640 | 29 |Zz20| 952y |vEL 1L | veese
2ED | 952 |0B5' 2| OE'D | 052 [BEE' | | B2'0 | 052 |E65'L | 620 | IS5 |91 BEOD | 052 | eQ'L ]| B20 | 052 | D060 L2°0 | 152 [26£40) L20 |62 |0E90) 9270 | 052 [8SS0 | F9EPF |ELLLL | ESELL
660 | 182 |/v60) 960 | B2 [bwl0| v60 | 898 [ 2490 | 4670 | 05 |aBv 0] B2 0 | 155 |0ev0] 920 | 6G¢ |86 0| 820 | 452 |66 0] 420 | 8¥ 2 |0kE 0| 810 | 8¥E 8520 | 9l 9 [ ghb 11 | cove
260 | J62 |ees0| 0c0 | o8 [809°0| 620 | 622 | €250 | 220 | ¥22 |eev 0] 920 | e2a [vBeO| be0 | 122 |bGe0| 220 | 022 |eae0] 020 | 692 [6620| 610 | 292 [ 1va 0] 192k |2hs t1] 2okce
leD | aSe |GH92| 060 | 9ve [Zt0c| 620 | 92 | 209k | 620 | ibe |Sib | Ba0 | 6ka |vhOL| B0 | 6vc |9680| /20 | 052 | 1820] Z20 | 052 |8290] 920 | 052 |8¥SO| bbvow [ LbLIL| L/L/L
660 | 98¢ |18B0| 260 | 0C |Z0s0| ve0 | 99 |9/50) g0 | 09¢ |bSv 0| 82O | ¥Se |eov0] Ge0 | eSc [s960) g0 | bGe |16 0| 020 | 6F ¢ |e6c0] 020 | Sk |eecofcte ok | FLEE | 0816
D [ 862 |S8/0| 060 | S8 |#590)| 620 | 6.2 |6550 | J20 | 642 |pov 0| 920 | LZ2 |OFpO| G20 | 0/2 |9JE0| 220 | 692 |€ve 0] beD | 292 |J0s0]| 610 | 192 |J520| 992r | ri bl | overe
D | Jve |0/92]| 160 | Ive |es0e| 6eo | ive | 629k | 6eo | ¥be vl | 620 | Jve |GIOL| BeD | Bre |9880| J20 | 052 |0/40] /20 2 |5990] 920 | 6re | /eSO ko bk | GOLIE| GrEgL
2r0 | 6/ |6vB0| 260 | 52 [1990| #60 | 592 | 0550 | 620 | 65c |0ev 0| Z20 | G52 [9860] 20 | 65e | tae 0] k30 | @52 |9+00] 030 | 252 |0220| 610 | 6re |See0|eoe or |80+ 11| 8568
IED | 86¢ |ByBO| 0E0 | S8 [20.0] 620 | 08¢ | G650 | 220 | vie |S8v 0| 920 | 122 |6ev0| G20 | 0L |8ec0| 220 | 892 [€960) k20 | 99¢ |92e 0| 610 | €92 |€e0| Ller |8O0L 11| BLibve
BE'0 | 6ve |0892] 260 | lve [0502| 160 | S8 | Ge9k | 620 | \be |6Zb +| B2 0 | Gv2 [¥00'L| 820 | ere |2980) 820 | 6ve |€5£0] L20 | 05 |/p90| 920 | 672 €250 | kG P | JOL V1 | Z220F
£0 | 262 |0v60| 060 | 282 [9920] 620 | 622 | 2¥90 | 220 | 642 |0250] 520 | b2 | +Zv 0| Ge O | 892 |92r0| £20 | 292 |¥ee0| +20 | 592 |SPe 0] 020 | 192 |6820] 922F |90+ |1 | S6be
2r0 | 58 |v620] ZE0 | 9/¢ |veo0| vE0 | 59 | 6es0 | 620 | 95¢ |0 0| /20 | 952 [0/60] ¥e0 | vae [/ee0] b0 | g5¢ |20e0] 6b0 | ¥Se |Soe 0| Br0 | E65e |ehe0|ere o [901 11| 96/8
260 | Ovz |06BE| 1B | tvg |60L 2| D60 | 862 | 669k | 620 | Ok |/Sh )| 620 | Gve |660] 820 | Bre |2vB0| B20 | 6ve |2e£0] 220 | 1S |5290| 920 | 62 2050 195 bl | GOV 11 | GOS9L
0€'D | 082 |960°)) 620 | SLT [946° BZ" 2% | 8240 ) 420 | 692 | 14S0) 920 | 992 [9KG0) 520 | ¥9Z |90 0) 520 | €92 |SIPO) 220 | €92 JOL80) 020 | 652 |OLE0) IBEY | WOL vicve
gr0 | 56 |£9£0] 260 | £Z¢ | +ho0| v60 | 998 | 0b50 | 620 | 85¢ |S66 0] £80 | 956 [8560] ¥e0 | 5G¢ |5ee0| ka0 | v5e |kee0] 640 | S5¢ |vse0| 40 | 95¢ |20 0| coe or | v0b 11 | IS
0CD | bve |8662] 620 | Jve |eake| Beo | 9ve | \wok | 820 | b |Zbh+| 620 | eve |9460] 820 | 9% [ees 0| 820 | 6ve [8020] 220 |25¢ [+090| 920 | Bve 6870 Liowr [£04 11 | £820L
0FD | A92 |Gk L] 620 | G9e 960t | Re0 | vo2 | 2vBO | /20 | €92 |9b90] 920 | 292 [¥/50] 920 | 08¢ [J/150]| G20 | 852 |eok 0] 620 | 192 [/6e0f 120 | /52 |2er 0| oBar |enL it | 2s0ve
er0 | 98 |vv20| 20 | 62 |g650| veo | 29 |sek0 | 620 | 65 |¥Be 0| 920 | L5 |8ve 0| ce0 | S5 [ske 0| +20 | 552 |18 0] 6+0 | 252 |sveo] ko | 85 |Seko |zt ar [2oL i | zeas
620 | vve |oi6¢| Be0 | 8¢ |60+2| 220 |85 | 965k | Ze0 | e5e |Oelh| L0 | 6ve [6960] 820 | vre [ces 0| 820 | 6ve |8890] Zg0 | 152 |€850| 620 | 8ve |1Zr 0| oo bw | bOL VE | LG0SE
620 | 852 | 1891]| 820 | GGe |82 1| BZ0 | G52 |2h0b | 220 | GGe |15/ 0] 920 | G52 [9590] 920 | 96¢ | 2450 G20 | ¥G2 |0150] 620 | ¥ |8ev O k20 | 952 |956 0| toap | bOL 1) | 0EBES
OF'0 | f8e |E2L0] SE° G4 | A4S EE’ 892 | éBr0 | 620 | 65'¢@ [S/E°0) 820 | 8BS GEED]| 20 [ 95 900 020 | 952 |2/20) 810 | 852 |92 0] 910 | 09 880 o S| LI 0208
620 | Pve |Gi62| 820 | e5c |460¢| 20 | 65¢ | S5k | 220 [ 85¢ |40V H]| 20 | ¥Ga |9ve0] Z20 [ eve 6080 820 | vve [¥890) 220 | 2S¢ |€950]Se0 | ave |esro| 1iswr | 660711 | GEBS)
820 | eS¢ |PI0E 8ve 8991 | /20 | /vE | veek | 920 | /b |0B80) 920 | 6ve |95/0]| 920 | 0G5 [9590| G20 | 252 |5950| v20 | 052 |vevof ez 0 | 652 |6/60| 962 | 660711 | 809EZ
G0 | 062 |¥020] 960 | 06% G960 BED | 692 | 0260 | 8270 | 092 |896 0] 620 | 652 | 1e£ 0| 220 | 962 | 6620 020 | 252 |5920] 020 | ¥52 |6220| 610 | 652 680 | cha ok | 86011 | 8ves
G20 | pre |B8GZ | 8 PGE | G802 | S G52 | GESL | 420 | AGE [GBOL] 920 | 092 [SHE0] 9270 | 8962 (AL 0] 820 | Ap2 | PSO0) 420 | b |2G50) G20 | 282 [Gar 0] O v | G0 L | SLEG L
B0 | G5 | 1+eg| 820 | B2 9691 ]| 720 | 9vg |see b | 960 | SvE |6960] 960 | f¥g |Bea 0| 920 | ive |6+20| G20 | 15¢ [ +190] 20 | 6ve |ees0] za0 | S5E |oor | tDEr | 260711 | g8Eee
Sl fa | ™A™ ] ] % e | op [ Ca | el cal o] ] %] a]l ]G] wv1]NoT] a
SivE=tL §26="1 gip=bL bzt op )=ty 101=H) ZL=iL 05="1 0g=ty

— 506 —



— 507 —

G |S46E| 820 | @S¢ |[90Lg]| Le0 | 652 | 6BS'L | 42’0 | 55¢ |9k b L0 | €58 |6560) 820 | g |AMBO| 820 | IS5 |EBOO) L20 | ISc |€850) 920 | BF e |0Lr 0| 299 FF G909} |

BGz |99 1| B2 0 | S5¢ |GAe | | B2 0 | 652 |wiD L | 220 | G52 |e5L0] 920 | G52 |8590] 920 | 95¢ |6250] G20 | vGe |2t50] ve0 | vGe |orv O] 120 | 952 |8se 0| 95 ar £850v2

882 |ALL0) LED | BLE |ELASD) PE J9E |80 ) 620 | JSE |0E0) 920 | 952 |vEED| 220 | vS'e |00E0] 020 | 962 |882'0) 020 | €5 Gz 0] 910 | 652 |EBLD =l (1478

Vb |0J62| 820 | ESe [260¢| J20 | 652 | wis k| 220 | 65¢ |GOF | Za0 | 52 | 60| Je0 | ¥Se |6080| 820 | She |6200) 220 | 6ve |2950) G20 | bk e |05r 0| aklvF 085t

S |8i0E| BZO | BY'Z | 2/5 L2 Lv'E | JEgh ) 920 | Ly EB80) 920 | 6v¢ [85L0)| 920 | 0G'Z | 65970 ) S20 | 852 | /9570 ) G20 | 062 |98y 0] 220 | 552 | LBE0 | EI6ER LEBEZ

68¢C |9690| /60 | 6/C [6550| 60 | 892 |69V 0 | 660 | 85¢ | 1960 580 | 95¢ |5060| 220 | 59¢ | 2620|020 | £5¢ [8520] 640 | ¥5¢ [12g0| 540 | 652 |92+ 0] 695 9F 22392

2 |06'2) 820 | 62 |880°2| L2'0 | 652 | 6SG) | 420 | 852 |[SBO'L| 820 | 192 [vI60) 920 | ¥G'e | /820 820 | 6v'E | IG90) J20 | b2 | IGEG0) G20 | 252 | 820 | 29 v 8Lac1

S5¢ |elec| Be0 | B6ve |468°L] Le0 | OFE | BEE'L | 920 | Spe |0S6°0) 820 | LpE |MEEO| 920 | Jrc |28/0)| S0 | 052 |SI90) SE0 | 6rc |[9e50) €0 | S5°€ |EOr 0| 96 EF G09Ee

26 | 2490 960 | 08 [Svg0| €60 [ 892 | bov0 | Bc0 | 85 |66 0| ve0 | 95¢ |2ke0| 6o 0 | 95 |¥8e0| 020 | 45T [0520| 640 | €5¢ |etg0|Sh0 [ 85E |k ] Eloor S0vZ

p'2 |OPE'E| 820 | 52 |9S0°2 | L 65 | 1EG'L | £2°0 | 85°2 |vSOL) 920 | 19 pe8'0| L2°0 | BG 5GL'0) 420 | 062 |E290) L2'0 | OFE |0SG0 | G20 | JS'2 |OOF' O 218 PP 968G |

952 |ovec| 820 | 06¢ |Selt| Je0 | Jbe |66k | 920 | ove |00 || 920 | 9be |pi80| 920 | Bre |9520] G20 | 6ve |6v90| ve0 | 6ke | 1660|220 | 052 |6er0|zhoer 18862

6@ | 0990 0| 08¢ |2E50) EE BOC |OvPO | 820 | G5 |SPEQ) ¥E0 | 95 GoEe0) G20 [ 99¢ |90 020 | 09C |evS 0] 6GLO | PSS |90Z0) SHO | S |#OL0 )| £99 9 6L

Vve |cvBZ| 820 | ¥SZ [B/6 1| /20 | 652 |99v k| 720 | 85¢ | 6660 920 | €92 |9280| /20 | 65¢ | /020|820 | 6ve |0650] /20 | 6v e |26v0| G20 | /52 | 1860 ] zasvr 7/1S1

/52 |s5zz| 8z0 | 152 [eve | /20 | 8v2 |g6eL | 920 | 9be | 6201 | 920 | ove |568°0| 920 | evE |8J20| 520 | eve [2/90] G20 |05z [6950] 220 | vz |avro] 290k S9Leg

€62 |pbo0| 980 | 08 [ 1250 BE0 | 892 |06p 0| 220 | 852 |8660) 620 | 952 | 108D 120 | JGE | 6920 6L 0 | 462 [Gez0| 840 | ¥52 |66+ 0] GH0 | /52 |65H0 | ehlor 1569

9v'g |295¢| 820 | 552 |642 1] /20 | 652 | ZvE'b | ¢e0 | 65¢ |6680) /20 | ¥5¢ |65/0| 820 | e5¢ | 9690 /20 | 6¥2 |8v50) /20 | @52 |sbv 0] Ge0 | /SC |a9e0|aiGvy 256V 1

458 |4582) BE'0 | 858 |aSit] Lg 6rE | WOFL ) 920 | fvE | LBOTLY 920 | L POE0| 920 | Br'e |6BL0) S20 | ivE |SBID) G20 | OS2 |OBSO) €20 | LFE [GSF 0| ELLER EvGic

| €62 |6290] 560 | 08 (6050 260 [ 892 [oebo | 20 [ 8Se |oec 0] 620 | 652 |v6z0| 120 | /G | 1920 610 [ 652 [s2z0] 610 | €5 510 Sl 0 [ 652 [esto]e9l o 6E75

Q80D | @92 |€20'c| 620 | 652 |6EV'L | 62" 692 | 960k | 82'0 | 95'2 |28L0) 680 | 25 g99'0| 820 | 19'2 | 845°0) 820 S'Z |EBF0) LE0 | 65 PP O €20 | 85 |PPED | COE PR UgLrh

620 | 852 |B85e¢2| 820 | 252 |65 1| /20 | 62 |eob') | 920 | 6vc | IbOF| 920 | /b2 |6060] 920 | 6ve |v6.0| G20 | 8ve |2690) G20 | 152 |/850] ¥20 | /v'2 890 191 ER 1222

JED | BEE |FLED 0| 6/ [BEFD] 2B Xz W0 ) /20 | 852 [226°0) 220 | 8652 |8R20| 180 | /&2 |#SE0) 6L0 | 6re [022'0) 8L0 [ G2 |/BLO)SLO [ 652 |BFLD 3 St 2158

EE0 | 65 |909°L| 60 | 09C [EGV LI DED | 9E | wWEO ] OE'0 | 6kE | VB9 0| DED | 2858 | 4650 620 | 5G¢ | LS50 820 | BS'E |SkkO) L20 | 192 |OBEO) 820 | BSE |OEED | ZHOSK 806 1

620 | BS'C |852C )| 8T0 | 25 (€57} | BZO | 05T | wOP'h ) £2°0 | 8p'C |20} | 620 | 8¢ [OM6'0) 920 | 062 | 9640) 920 | BY'E |S60°0) S20 | 162 |OSS 0] ¥e0 | 8vE |€LP0) LICER G6rce

LED | @62 |665°0) 580 | L2 |BEYO0)| 260 | 492 |OOPO | G20 | IS¢ |¥IE0) 220 | 958 [B20) 020 [ 552 |Sv20) 640 | 62 |2l 0] 940 | 252 |I8L O SI0 | #5'2 |2vh 0| £98 9 SE29

EE'0 | ¥8C |BGE'L| 2B'0 | ESE [ LLO'L | EE0 | JSE | €980 ] E0 | S5 |OESO| 0E0 | 952 | M5S0) 620 | 18E |eLp0| 820 | 65 |SSkO) S0 | 092 |88 0] 20 | L5E | LEE0 ] 290G gecr

620 | BSE |9522 0| EsE 41| BE 05 |wOP'L | 220 | 6 |ERQ'L) 920 | 8P 2 |60 920 | 0S¢ | 4640 920 | 6v'c [BED0D) S20 | 25< |E6S0) PE0 | 8vE |LLr 0] 19CER Ligge

80| 062 |9850] G560 | viE |G 0| e 32 | 1660 | S20 | 957 |G0e0| ge0 | 952 |6920| 020 [ vSE |s820] 640 | 6vE [e0z0| 940 | 152 [piof G0 [ v5E [Sero]ersop £L09

£E'0 | BH2 | E9E'L ‘0| BG'E [&50°1 ] 28 G2 | £E68'0 | LE'D | 28 H08'0) 060 | S5 Pra0) 620 | 69" 0] 82'0 | 85 2P 0) 620 | 652 |9/60]) 220 | 652 |BLEO]ELI Sk o0k |

620 | 852 |692¢| B0 | 25¢ |6. 1| B20 | 6ve | Ok | 220 | 8ve |GvO ] 920 | 6v2 |€160] 920 | 05¢ | 8640 920 | 6ve |8690) G20 | ¢G5 |6650) v20 | 8vE | ZZv 0| Fie v 55072

ZED | 98¢ |v/50| PEO | o [vor 0| +E0 | g9¢ | 2860 | Se0 | boe |62 0] ka0 | ¥Sa |19 0] 00 | e9c |Bac 0] Zb0 | 6ve |96k 0| 9+0 | 0Gc |29k0) Gh0 | E5C |68k 0| E96 OF 1589

860 | /G2 |bopL| 20 | 092 2801 | 260 | 652 | 16RO | 620 | 952 |ep90| 080 | G52 |9560] 620 | 662 |68r 0] 820 | 952 |06k 0] 920 | JG2 |0860) 220 | v52 | 1260 | zarcp 2r8el

620 | /52 |v5ee| B20 | 25¢ |29, t| BZO | 6ve |etv b | 720 | 8be |8v0 L] /20 | 6v2 |E160] 920 | 06 |8620] 920 | 6ve | 2690 G20 | 252 |e650) b2 0 | 6ve | /70| 19e b 88812

G0 | BE 2950 PED | B9'E |BSF0 | DB 652 |wLE0 | #G'0 | B5c |BBE0) 180 | @658 |a56 0] 080 | vd |GLED| 940 | 8pc [GELO) 90 | OSc |O2L O ¥I 0 | a5d |EEL0 04 6299

260 | 0S¢ |2/0L| 160 | 95E |02 1| 060 | 952 |Ov60 | 620 | 00 |V/90| 620 | 652 |0650] 820 | 25e |6es0| 820 | bGe |eor 0] 020 | 952 |eec0) 220 | ISe |0ee 0| ebe sk 0z9E] |

620 | 49 s92'2 | 820 | 162 | 15471 ]| B2 Sv2 | bk ) 420 | SP'2 | MWOH) L2°0 | v | POG0) 9270 | 05 | BBL0) 980 | 6¥E | 9850 SE0 | £5°F |2850) ¥E0 | 05 |80 0 313

060 | Gve | €861 | 620 | 162 [1hrt| 620 | 252 | 290k | 820 | 292 |epZ 0] 620 | 092 |Bp9 0| 820 | 26 |2450] 220 | v52 |68k 0] 620 | 852 |2kp 0| 220 | 6¥ 2 |vpe 0| 292 GF 66€

620 | 99 |JScc| B2O | 192 | 1§21 ] BeE AVE |OOF L | 220 | 8% IEQ'L ) /20 | 9FE |¥EE0)| 920 | 6Fc |64.0] 8920 | 6 [9/09°0) S2'0 | £Sc |S/S0) pE0 | 252 |097 0] L9V ER GRELE

3 Mg |L0E'Z)| 820 | Bh'E |EE9'L| BE'0 | 9k | BES'L | 280 | |52 |658°0) 280 | 85¢ [92£0] 2270 | VS | IESO) £20 | V5E |EV50) 920 | ESE |Bkr O 820 | 252 |VSE'D| EIE'SK SLLE1

492 |9412) 620 | @5€ |449°1 | BE'O | 052 |SEE') | £2°0 | 1G'C |8460) L20 | 252 |6PB0) 20 | EG'C | vPL 0| 920 | 562 |9POO) G20 | 952 |9G50) G20 | S5 |9vr O LIS ER L9k

68 |85 820 | LvE |0S8'L | B8O | PyE | 68E'L | 460 | s¥E |2960) L80 | 058 |£L080) £80 | 056 |669°0) 980 | 052 [FE50) 920 | 05¢ |68F Q) ¥e0 | 858 | 9960 | 298°SF PS6g b

By'g |080'2) 620 | €92 |ppSL | 620 | 652 | 02} | B2'0 | 852 |E060) 20 | 852 |68820] £20 | JS¢ | VOLO) 620 | 662 [HIOO0) 920 | 852 |9€G0) G20 | JOZ |vEPO] L9SEP SP602

BEZ |g29/d| R0 | /v'@ | /G671 | BE va | w05 ) E0 | ar IS0 /20 | pra [RRE'0) 920 | e [#S/0) 820 | 062 | Lw90) SE0 | sva |BESOQ¥a () | 1SE |pAE0D | Blv S absal

0v'C |es0c| 6c0 | eve |969 | 620 | t5e |22k k[ Bc0 | 09G |ese0| 6c 0 | 09¢ |2940] 460 | 09% |0490] L20 | e9Z |6850] 920 | 69¢c |cesof Gc0 | 45€ |eer o] tigEr 62402

Ob'E | 9602 A BE'EZ | PSS} | BE bve | Lle'L | 620 2 2E8'0) 820 | €9 peL'0| 820 | 29'E | JG9°0) L20 S'Z |£85°0) 920 | 092 |025°0 ) G20 | 8S'E | 6270 | 199°EP L0GOZ

B¢ |9/82| 820 | e |vw0e| B2 0 | Eve |BZ5L | 220 | Wwe [elb || /20 | eba [Ep60| 920 | Ore | 2620] 920 | 6be |6290] G20 | 162 |6360| 20 | 6k |Gtr 0| carsr 0152} |

GE'E |VPEG'E 4 Gr'e | kE0E | B er'e | 9L | L20 a G L) J20 | W 960 980 | or'e | SE8'0) S20 2 |ECL0) #20 | €S2 |9450) e 0 | BFE | LEF O] SIS SK asee b

\v'% |6/02| 060 | OFZ |05 1| 620 | 662 |ceak | 660 | 85¢ |av8 0| 820 | €92 |J640] 620 | €52 | 1990 Z20 | v9e [9850] 920 | 192 |6e50] 520 |85z |veve|tizEr 62202

e |2zig| 060 |86 |09t | 0e0 | 6eZ | €92k | 620 | G52 |18s0f 820 | €92 [J5/ 0] 820 | 19 [0890] s20 | €52 |0090] 920 |09z |9es0|Geo | /S |gvr o) taser 25002

662 |6562| 820 | o |Zbie| B20 | eve |Evok | 220 | Iwe [ /9L L] J20 | 1ba [£660] 920 | bre [#¥e0| S20 | 8be |2120]| b2 0 | ¥52 |9650| 20 | 6¥e | tbr 0| sosar 9902+

eve |68LE : B¢ | 859} | 08 622 L) 620 | 065d [ee60) 620 | L9 e64'0) 820 [ AS’ LA 0] 20 9¢ |1E90) 20 | 652 |/G50) G20 | 652 |var O LIRER GEBG L

GE'E |E96'E) BE'D | 9vE |EEV'E| BED | FIE | BFI'L ulm.c W | 2L m.n_ WE | J660] 920 | Vg |6VBO) SE0 | AVE [bEL0) vEO | WS'E |E8SOQ EE0 mlw.m VD w_.m.mlv pd 1

5 e .o._.lh T .ow on T .om o T .u._.lh = .ow 5 L 51| o4 Ty .u._.l o e .um 5 L™ 1v1 | No1 ar_|
SipE=tL §26=1 gip=tL Hz=t1 op =iy 101=H) ZL=iy 05="1 og=ty




10 | Ovg [erbc] 620 | bbe |owet] 620 | gve | 602k €92 [1820] 820 | 692 |2590] 220 | 692 [0850] 920 | 09¢ [2+50] G20 | 652 [Zer 0] choer | bhe )| Poi0z
620 | 8cc (9162 820 | Jve |8i02| B2 0 | eve |BO9T Mpd [G96°0) 9270 | 92 |[SIE0) 920 | Bv'e |9690) G20 | €5 | M5S0 P20 | p@ |Jer O EISSk | be bE | 6822

€0 | tve [¥90e| 6e0 | e /551 6e0 |Ove |eect v9e [Be/0| 820 | E9e |e590] /20 | v9e [0850] 9e0 | 19¢ [8150] Ge0 | 65¢ |6er 0| e99¢er | 60¢ 4 | 20502
620 | 662 |6v62| 820 B0r2| B20 | eve |Seol ive | 2860 920 | ke | /690|520 | ive |2k20] S20 |€se |€850| b2 0 | Jbe |8er 0| 695 Gr | BOZ i | 2902}
Le0 | W2 |PEDE] 0870 2857} | 080 | BE'Z | p¥E'L £9¢ [2v.0| 820 | 29 |995°0) J20 | €9F |065°0) 920 | 09 | /250 G20 | 852 |8er 0| EFLE | BOZ L) | OBE0Z
620 | 662 |/96¢] B2 0 Siic|Beo | eve |evak Ve 6660 920 | vve |PwB 0| 520 | ve [8420| ve0 | 650 | 2850 620 | Jve |avw 0| ehoar | 902 b | GPBIE
0 | b2 |Ghie] teo 2oL | g0 [ 6c2 | 6224 292 89,0 8270 | 192 | 1690 | 820 | 292 | 1100|020 | 092 |pps 0| G20 | 952 |ech0 | e9Leb | 902+ | 85002
ZED | cve |Eeee| tED 9891 | DE0 | Ove | BeEt 092 | 1180 820 | 65 | 6220 | 820 | 65¢ |@vo0| /20 | 85¢ |895 0| G20 | G52 |elv 0| EbOEh | w02 1V | 9EBEL
620 | 66 |ev6e| 820 501z 8 e | ee9k v | 2860 950 | sve | /880|520 | sve [vheo| ve0 [e9¢ [s850) ec0 | ZvE [ovw0|e9osy [ voz 11| 629kt
2E0 | eve [1EE| 1£0 Z6L 1| 08 i EE ¥5e [988°0| 820 | 952 | 9820|820 | v5e [2690| Z20 | J5¢ [€090] Ge0 | e5e | 1050 | c98er [e0e 11| pio6k
620 | 8e2 |/682] 820 8902 | B2 0 | eve | 009'L ive |v960| 920 | vz |9180| 520 | 8v2 |8690] G20 | 252 |p2GO| ¥20 | Sve | tew 0| ehlGh | 202 1h | LOPLE
ct0 | e |EDE| LED 886 L | 0E'D | 6E'C | #BS'L Lp@ |200°L| 820 | 0S¢ |E48°0) 20 | 1S |E940) A0 | ISE |0990)SE0 | b5 |SESOJEIGER | cLL | B6EGH
620 | 86 @ |66/4] B2 D v66 1| B2 0 | £V @ | 0vS Ghe |1e60| 920 | 9vc | ¥82 0| 930 | 6v e |6990) G20 | 6v e [5G5 0| va0 | Jva |vir 0| e9/Gv | m bt | G/bLE
280 | e |eJ0E] 620 eoc'z| 620 | 662 | 867 Eve |cekt| Je0 | vve |6860| JE0 | EvE |€980) /20 | 9vE |€e/ 0] 920 | 6¥E |2/5 0] c96¢€p [ @61 11 | 0ZIEF
620 | 662 |669e| 82O 98t | 820 | brz | kv 5h2 | 658°0| JeD | 05¢ | 6220 920 | 6ve |v290] G20 | Gve |Ge50| va0 | V52 | /860 | chech | 864 1 | 2560k
CED | ava |evee] 620 G0SC|B20 | Ive | 956 ¢ BEC |6V L] Je0 | Ove |90 1] /g0 | bve [6e60] 920 | eve |ve 0] 920 | Jve |v080 | ErObr | OGL VE | BYGEE
06D | eva |98ec| 620 90+ | B2 0 | sve |voel @5 [99.0| /20 | B9 9990 920 | 052 |v/50] G20 | Bve |B2v0| €20 | 092 |£SE 0| £98°Sh | 964 (1 | GEL0)
IED | 0v2 |BebE] 620 SJSZ| B20 | 8ee |oloe | 820 | 6ee |odv I | Je0 | Jeg [l6eL| J20 | 2ve |0l L] 720 | eve |€S60)] 920 | bbe |6080)| 20 | Ske |Jeg 0| Ea0 b | SBL I L | GedBl |
Q20 | av 802 | 62°0 LEF'L | B2 052 |68 | 820 | L5 [06L'0) L28'0 | LS [£89'0) £20 | 86'2 [ 9650 98'0 | 6¥'E | 82850 S2'0 | 45 Sy 0y 220 | 85 |PEED 55k | v6L S50
260 | 2va |Beet| 620 6a5¢| 620 | 96C | G661k | 820 | 66 |aav'k| B20 | Obe |65e k| Ze0 | eve |0k k| /20 | Wwe [¥S60| 220 | bv e |2620] 920 | Sve 6290 | 2kk ¥k |66 1L | #0586

260 | 062 |29/ L] 1D 9/z || 1E0 092 [ 16A0 | B2 0 | £9Z [GRO0| B2 0 | 192 G090 /20 | 6Ge |bES 0| 920 | 1G2 [B9p 0| G20 | 092 [98e 0| 120 | 952 |GLe 0| £986p | 261 1L 1620

eh’D | Lvg |GS0E| ED BLE G| BE'0 | 6kE | 664 ) BE0 | Lbd |[SVE L) BE0 | SkE |40 BE0 | SkE |BEQL) ZE0 | ke [L0B0) L20 | SPE |ALL00 980 | Lka L1029 bk | L6111 ) EBEEL
VED | 85C |ver L] BE 0 (2071 [ 2e0 | 0Z2 |ves0 | 620 | 892 |Z100| 820 | 19¢ |eva 0] 820 | E5 [EBrO| 920 | 952 [ZIP0| $20 | 25¢C |596 0] 020 | vS2 [8620 | 6o 9F | 64 bk | 6900 |
VED | 56 | 1050] g6 0 2050|080 | Zie |GevO | 220 | vZg |6vE0| ve0 | ele [6+80| 20 | BLc |26¢0] 020 | a2e |¥920] 020 | 19¢ |see 0] Z1 0 | 292 |v6h 0| c9eer | 684 1) | £e9e
260 | ese [gGele| e 2602 | 060 | e5c | G894 | 620 | 6ve |ee | 820 | Lve |02k t] B20 | Bre | 0660 J20 | ive |0/60) Jgn | Zve | 1520 820 | 6ve |6650|2hevr | 68L L] 0908

9E'D | 65 |B6EL| PED GEGO| EE'D | S92 | IS0 J0E0 | 852 [GOS 0| 620 | 152 2050 820 | IS2 |Svr 0] 820 | 962 |06E0| 20 | 552 |SPE 0| 020 | @52 |2BE0 | E90°9F | BBLLL | L¥BE
vED | 56 | 2690 260 250|620 | 2/ | ek 0| /20 | vie |98 0| veo | £Zc |veeD| ce0 | e |s080| b0 | 122 (820|020 | 192 |sve 0] L1 0 | 292 |S020 | chver | 8L i ] K09
200 | 09 [gege] teo 00z 0e0 [ G52 |etok [ 620 | 052 |6let| 620 | 6ve [0/0L| 820 | 6re |5a60] J20 | 6ve [geB0] /20 [Bbe [Bei0] 620 | 6ve |G850|e9evy | /81 11| Besit
660 | E9g |Jab k| 960 /2B0| vE0 | 022 |0/90) 160 | ¥5a |Ses0| 620 | 6 a |69v0| Z20 | 65e |vhvO| S20 | vGe |0/E0] ce0 | @52 |8ae 0] 6L0 | 052 |8920 | RLhov | 9RL 11| Se06
860 | 66 |€990] k60 2590|620 | 84 |e/k0| se0 | vic |eee0| 920 | €4 |0560] 660 | alc |ceeo| k0 | /¢ (€620 6L0 | 69¢ |tog0) L1 0 | 292 |Zico|cover | 981 || 6e8Se
[ 280 | 652 [8652] 16D S00Z| DED | €52 | 665 | 620 | 152 |JBL || 620 | 052 [4pOL| 820 | 6v2 | 1£60]| 820 | 052 |9IBO| Z20 | 6ve |FFZO| 920 | 052 |£/60 | ke wp [S8L 11| 9lolt
2rD | B/2 |B/60] JE0 £5.0]| ¥60 | 692 | 1650 | 160 | 152 |e6v0]| 620 | 6ve |6ep0| 20 | eGc | 266 0] 20 | 162 |FSE0] 120 2 |elcol6l0 | 6ve [sczo|eslor [vaL 1L £ovE
800 | /62 |B020] 16D £850]| 620 | 622 | 1050 220 | t¢@ |60v0| 920 | @2a [0260| ¥e0 | 12c |0ve 0| 220 | 022 |01E0] 020 | 692 |2220] 640 | @92 |bea 0| erGer | PBE Hi | L0952
260 | 952 |65 2] 1B D Z00Z| 620 | 052 | 109k | 620 | t5¢ |G/l F| 620 | OS2 |0B0 L] 820 | 6ve | VIGO0 820 | 192 |6620] Je0 | 6V 2 |J690] 920 | 05 € |2960 | c9e bk | €8L VL | PBELL
Or'D | 682 |[Gh60] 860 1620|660 | 992 | 6850 | +60 | 052 |S9v0| B20 | 252 [2hv0| 920 | @52 |bie 0] €20 | 052 [8£60| 020 | 8v2 [6620] 020 | eve |eve0|clear |28t 1| (8l
360 | 862 |¥vL0] 1ED 6190 | 620 | 622 |2650 | 220 | 622 | tev 0| 920 | 242 |0680] G20 | 122 | 6560 220 | 0.2 |8260) 020 | 892 |$620] 610 | 292 |Sre 0| 2o ar | 28l |t | Geese
260 | e9¢ |eeoe| bED OE0Z | B2 0 | 9¥c [BIOk | 620 | /Fe |€BL 1| Ba0 | 6ve 020 L] B2O | 6vc |2060] 220 | 05¢ |80 Zg0 | 6v¢ [€890| 620 | 6ve | 1550 | chrov | 18I 1L | aziit
2v0 | 9/z |2880] 86D 2890|560 | v9e | G950 | 080 | 6vE | WO 220 | ¥SE |2660] Ge0 | 25z |BS6 0] 220 | 0S¢ |26 0] 020 | 052 |vez 0| 840 | ZV'e |6ez0|£9eor | 81 Fi | 6568
gt'0 | 66'2 |P6L0| OE'0 299" 62" 642 |S950) £20 | €42 |09y 0) 920 | L42 [SHPO) G20 | 0L |0BE0) 220 9% [4vE0) 120 | 492 | FIE0 0|19 |asencloer | 61 HE | B9LSE
260 | ov ¢ |69 b6 0 £90¢| 060 |Ove |89k | 620 | *vg |88k )| B20 | Lve [8h0L| 820 | Brc |B88 0| 620 | 056 |aLi0] £80 | 6vg |£990] 920 | 6¥e |6ea 0| carvr | 644 bk | OG60F
ev0 | ede |0e8 0] BED G590 | vE0 | €92 [Ev50 | 620 | é5e [tev 0] /20 | vae [64€0| ve0 | eae |eve 0| 120 | 05 [8080| 020 | e5e |+1220] 6+0 | 052 [Zie0|ete oy [82bvv| Jesa
LE0 | A6 2 |BSB0] 0B D 0L 0| 620 [ 082 [090 | /20 | v/2 [16v0| 920 | L2 [vvv0| Ge0 | 0/c |20v 0| €20 | 892 [/9e0] 120 [ 992 [6ee D] 610 | 202 |9/z0] 20992r 821 1L | Lveba
Se0 | ebe |Z12E| 20 vw0z| 160 | 862 |2eot | 620 | vz |92k} | 620 | sve [000'H| 860 | 8rc |g98°0| 820 | 6¥2 [2940| 220 | 052 |2k90] S20 | 6vz |eeso]ziswr | 22111 ] Baeol
8r'0 | v8z [06£0] 860 0£9°0| 60 [ €5¢ |ves0 | 620 | G52 |e0v 0| Ze0 | #5e (G980 ve0 [ ese | 1ee 0] 120 | 25¢ [9620] 610 [€5¢ [65¢0] 610 | vo2 9020 eoeor 924 1i | Gige
lED | 162 |£960] 0EO 1820|6520 | 8¢ | 0990 | /20 | 642 |6250] 920 | 022 |6/p0| G20 | iS¢ |vew 0| €20 | 292 |06e0) 220 | ¥9¢ |06 0] 020 | 092 |v62 0| 2rlar | 921 1) | 6hibe
LE'D | JE'E |BIBE : IS4 0E" e | SE9°L | G20 | B ESLL| 620 | SF S/60) 860 | 6¥'c | BEBO| 820 Pe [B2L0) J20 | 152 |E250) 920 | 8F'E |S050 | 295k | 941 H1 | 90591
2r0 | G8 g |v9L0 BC90| VEO | P92 | 2050 | 620 | 95 | 166 0| 920 | G52 |£560] 620 | eS¢ |02c 0] 120 | 65¢ [G86 0] 6+0 | 952 |8pe 0] 910 | JSe |J6FC|elvor | vil V] E6as
0ED | 0B |90+ H] 62 SBE 0| 620 | ele |pes0 | 420 [ 69 |Z/50] 920 | 992 [tes0| 920 | v9E | (/O] SE0 | €9¢ |0ev O] 220 | 292 |eZE0| 020 | BSE |ele 0| E9LEr |vil |1 | J6vbE
620 | 2vz |B662| BT 1z | B2 0 | 052 |06 L | 820 | ¥be | 951 )| B20 | b2 [8260] 820 | 6rc |628 0| 620 | 6¥e |5020] 220 | 252 |6650] 920 | 6v2 |667 0| 21owk | ¥2l 1) | #820L
WD | 882 |ovSO) SE 065" vE a9’z | 160 ) 620 | SIS 0880 | 920 | G5 EPED| 220 | 862 |0LED) 020 | #GE |G/f20) ALO | JG2 |BEZ0] 910 | 662 [GRLOE9P S | 240 L0 LA08
06D | BIZ | ZgB }] 620 BEO'L | BE0 | ¥92 | WvBO | 260 | 69 |8v90| /60 | 96 [9/50| 9e0 | 09z |6+50]| G20 | 852 |kovO| €20 | 198 |eee 0 ba0 | /5@ |wec 0|zl er |2/ 1L | Sieve
EREEEEEN P | o1 | °a e | op [ Ca | el cal o] ] %] a]l ]G] wv1]NoT] a

SivE=tL gip=bL bzt op )=ty 101=H) ZL=iL 05="1 0g=ty

— 508 —





